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3.

Consider the following two statements :

-
!

Assertion (A): ' ; * . ier and
Orographic precipitation results when moving @Iﬂturﬂ-laden air Str%‘es a topographic barre

is forced upwards. O 3

Reason (R) : b |

he leeward side is likely to be

rll '

Most of the precipitation falls on the i#indwatd..ﬁe of the harrier and
dry. &

Choose the correct answer : &

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) (A) is true, but (R) is false. |
(3) Both (A) and (R) are true, but (R) is not the correct explanation of (A)%
(4) (A) is false, but (R) is true. '

|
Consider the following statements with reference to the mineral ‘mangangse’ in India :
A. Odisha is the state with the highest reserves in India.

B. It is an'essential input in steel-making in alloy form.

C. Pyrolusite is the ore of manganese.

D. The Gondite and Kodurite deposits are rich in manganese ore.
Which of the above statements is/are correct ? (]

(1) A and B only 2) A only

(3) A,B,Cand D &1) A, B and C only

Consider the following statements related to thegbumbai Trans Harbo
A. Itis a Road Bridge connecting Mumbai city with Navi Mumbai.

B. It begins in Parel, South Mumbai and crosses Thane Creek and
near Nhava Sheva.

Which of the above statements is/are correct ?
(1) B only (2) Aonly
(3) Neither A nor B (4) Both A and B

- Pink (MTHL) :

minates at Chirle Village,

Consider the following statements : 3

A. Aswaraopeta Assembly constituency area extends to the easternmost part/boundary of
Telangana State. T

B. Adilabad Assembly constituency area extends to the northernmost part/]
State.

Which of the above statements is/are correct ? ()

(1) Bonly @) A only

(3) Neither A nor B ) Both A and B

The terms ‘Aus’, ‘Aman’, and ‘Boro’ are rel &Which crop grown in a year ?

‘(1) Three crops of paddy grown in West Bengal | (2) Three crops of wheat grown in Punjab
ee crops of maize grown in Rajasthan (4) Three crops of cotton 8rown in Maharashtra

Consider the following statements
A. Koulasnala and Boggulavagu irrigation projects are located in the Godavari basm
B. Kotepally Vagu and Asif Nahar irrigation projects are located in the Krishna hagin
Which of the above statements is/are correct ?

(1) B only (2) A only

(3) Neither A nor B (4) Both Aand B
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Arrange the following districts In ascending order in termg of their Female Literacy Rate (%) based

T
zﬂ 2011 Census : C Jogulamba Q Rl anpet E W soth
Ch Nagarkurnool B. Medak - adwal D, Nar&}’ P + WERnapaEiay
(1)01{;5?}18 CEUHEC'; °r|f§ C.D,A BE] @) A D, E,B ‘:i, (4) C,D,E, B, A
8. According to Képpen’s climatic ciasmﬁcatlon, a larger areq o the Telangana State falls under :
(1) Humid Sub-tropical climate (CWa)
(2) Tropical Savanna climate (Aw)
(3) Hot semi- arid climate (BShw)
(4) Monsoon climate (Am) (7
9.  Match the following National parks and E@iir States :
National Park State
A. Tadoba National Park Ii Kbrhataka
B. Madhav National Park I1. U@r Pradesh
C. Dudhwa National Park III. Maharashtra 2
D. Bandipur National Park IV. Madhya Pradesh
Choose the correct answer : e
(1) A-IIL; B-IV; C-I; D-II (2) A-IV; B-III; C-II; Bl
(3) A-III; B-IV; C-II; D-I (4) A-I; B-IV; C-II; D
10. Which of the following statements about Continental Shelf are correct ?
A. Continental Shelves are continental marginal areas submerged under @ceanic water.
B. Continental Shelves are very wide and extensive along the western coast of South America
where high mountains are very close and parallel to the coast. h
C. Extensive Continental Shelves are forind around Newfoundland.
D. Many marginal seas are located on the Continental Shelves of North tic.
Choose the correct answer : &)
(1) A, B and C only [i"?] i Boxly S
(3) A,B,Cand D B (4) A, CandD only i1
11. Which of the following fluvial landforms ate associated with rejuvenated topography ?
A. Incised meander B. Entrenched meander
C. Knickpoint D. Natural levees
Choose the correct answer :
(1) B, C and D only (2) AB,CandD
(3) A, B and C only (4) A, CandD only
12. Which of the following climate is also known as ‘Sclerophyll’ ecosystem or biome ?
(1) Tundra climate (2) Mediterranean climate
(3) Monsoon climate (4) Equatorial climate
13. Match the following Articles of the Cnnstg‘t‘ltmn of India with their Provision :
Article Provision ()
A. Article 14 1. Abolition of untouchability
B. Article 16 II. Equality of upportlhlity in Public Employment
C. Article 17 III. Equality before the;l:}aw
D. Article 18 IV. Abolition of titles

Choose the correct answer :
(1) A-IIT; B-IL, C-I'D-IV
(3) A-II; B-I; C-IV; D-III

R (-4 )

(2) A-I: B-II: C-III; D-IV
(4) A-I; B-III; C-II; D-IV
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vhich of the following became the

J

hability (Offenceg) W
%Tgftcunder the Act ? Act, 1955: b

14. The Parliament enacted the
first case before the Supreme
lab Singh _
(1) State of Kerala Vs. Gu Balu Iﬂg{rﬁ

(2) Stﬁt@ gf' Kamﬂt&ka VS- -Appa .

(8) Vimalesh Tomar Vs, State of Haryalla Caste/Trih s SOBlfare Association Vs. Union of

(4) Posts & Telegraphs (P & T) Schedul€ ¢ Employees’ We ) .
ssembly, observed that :

India
: . BE i
15.  Dr. B.R. Ambedkar, on the debate of “due-g:c_&ss " the Constituent AB
: ature and Judiciary.

A. it involves the relation between legi_SI - S |
B. in a federal system, it is about judiciary deciding law 5 ultra W33¢  intra vires,

C. It involves the adjustment of federal arrangement.

Cho :
ose the correct answer (2) Only A and B are 2L

(1) Only B and C are true. | il
(3) A, B and C are true. . (4) Only A and C are it e.
The Constitution (4% Amendment Act), 1955 introduced the conceptiof Eminent Domain. The

- o

16.
concept includes : e
A. The Police power to detain persons for public purpose 3
B. The power to impose taxes on citizens for public welfare
C. The legal capacity to take private 'propﬁfﬂ}' for public purpose
D. The legal capacity to share public burd@)
Choose the correct answer : =2
(1) B, C and D only ] (2) AandBonly
(3) D only Zg (4) C only |

17. Which of the following pairs are correct in relation to the Articles of the Directive Principles of State
Policy ? N

A. Article 39 A : Free legal aid
B. Article 43 A : Workers participation in the management of indus

C. Article 48 A : Safeguarding rights of the children

D. Article 51 : Promote international peace and security
Choose the correct answer :
(1) B, C and D only
(3) A, Band D only
18. The role of the State Election Commission jx*
(1) To conduct elections to Local Bodies|
(3) To conduct elections to Community based o g

Consider the following in relation to the eléétion of the members of the Parlianie_ﬁt :

A. Lok Sabha members are elected directl{¥én the basis of adult suffrage.
B. Rajya Sabha members are indirectly elected on a proportional representation basis by the elected

members of the State Legislative Assemblies.
C. A few Rajya Sabha members are nominated by the Prime Minister for special knowledge.

D. Rajya Sabha members are allotted to each state based on the geographical area.

Which of the above statements are correct ?
(2) A, Band C only

(1) A, B and D only
(3) A and D only (4) A and B only

Which of the following is an essential feature of a Federal Constitution ?
(2) Election Commission

3) Di stribution of Powers (4) Parliamentary Supremacy
| Egm
Ot

[R (6)

(2) A, B and C only
(4) A, C and D only A
(2) To conduct elecﬁ’qns to State Legislature
nisations (4) To conduct elections to State Cooperatives

19.

20. »
(1) Supremacy of Judiciary
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22.

23.

24.

25.
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icle 368 of the Constitution :
Consider the following 11 relatio” end the Constitutjqy
A. It empowers the Parliaﬂle“: Z aﬂlend the Constitutioy by 2/3 majority.
B. It empowers the Parliamen ! ¥ amend the I — Rights;
g. ;dD;s rlmt empower ﬂ:gi:lﬂy pl"ﬂ‘fiﬂi& of the Constitution except Basic Structure.
. e Parli can a
Which of the :lr)r:}iztstatement-s are correct
(1) Only A, B and C are true.

(3) A, B, C and D are true.

D (2) Only A and B are true.
g (4) Only A, B and D are true.

Consider the following statements :

A. The Supreme Court has recognised that casting of vote is a form of speech.
B. The voter has the right to know the antecedents of the candidate who is contesting elections.

Which of the above statements is/are correct ?
(2) Only A is true.

(4) Both A and B are true.

(1) Only B is true.
(3) Neither A nor B is true.

Match the following about Drinking Water&andards, (BIS 10500 : 2012) with acceptable limits :

Metal Acceptable limit (mg L_I).’ O

A. Fe I. 50 &

B. Mn II. 038

C. Cu III. 0-05 94

D. Zn V. 01

Choose the correct answer :

(1) A-II; B-IV; C-III; D-I (2) A-II; B-III; C-I; D-IV
(3) A-IV; B-III; C-I; D-II (4) A-I; B-IV; C-II; D-III

Sort the following steps in the correct order of photochemical smog production :
A. Emission of NO, and VOCs.

B. Ozone production due to the reaction be{\bﬁ:een NO, and VOCs.
C. Ozone reacts with other pollutants and dorms NO, and Og.
D. Peroxy Acyl Nitrate (PAN) is produced ﬁ the reaction between NOy and hydrocarbons.

Choose the correct order : $

(1) A,C, B, D (2) A,D,C,B 3) A,D,B,C

4) A,B,C,D

Collapsing of polar vortex contributes to the stabilization of the ozone layer because it :

(1) Disperses ozone-destroying forms of chlorine
(2) Allows ozone depleting chemicals to accumulate

(3) Triggers the release of additional chlorine into the stratosphere

(4) Accelerates ozone depletion reactions

R | (8)
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B0 T2 ), DSB0IETAE B Z0endo OOSTD ) QANOE.

2/3 D250 BIFSOS Toar0mr)) HSBOSEAL a*éﬁnoe.nS\) ©HSE0 )08,

| C. @rODS FHLO8 HIB0BEIE D EZ0ENE 6B L0055,

’ D. Tr2riof S3°9% NTE0 D)) 9edE o LOTOT S &)é.ﬁfbotﬁc:r&‘lg 2O FPOF0LNEL BOOSTV) NOD.

w o>

D TIVIOES DD DB ? a
| (1) A, B DO C S5e83DH Deso. (2) A B0 B Srebsdh dzs0.
| (3) A, B, C B0 D dz0. (4 A B 50050 D Sr(e3h dasol

22. &:(808 TN DBHBOSOS

A, 280 80 AAAITAO 2.5 BED 27 (HEEIS @) 23S (0 §& HBoD0A.
B. D)0 3 TR SO JT5N0en BendnSD o) 4055 2555806,

D TSROSO/ HOTSY ?
(1) B Sr@83d dzzso. (2) A Sredad 0.
(3) A QB B Bodr J0 5% r4}'i A HBOW B BO&r 220,
23. &S (DSrasw (BIS 10500 2012) O @ﬁdﬁ@rﬁg&é @O QOVOBONS (808 ¢33
BSHEDAY : ]
S0 O BTNDS @3B (mg LY),
A. Fe pe 50
B. Mn II. 03
C. Cu III. 0-05
D. Zn IV. 01
NSINESIN N T TR To TR VPN VN W
(1) A-II; B-IV; C-III; D-I (2) A-II; B-III; C-I; D-IV
(3) A-IV; B-III; C-I; D-II (4) A-I; B-IV; C-II; D-III

24. 5708 SONS Ff B0 ©OTeD HOTS Lé::ooeﬁ‘ 90508 :
. NO, 805 VOC & &G 85w, %

B. NO, 08050 VOC © 065§ td6 59 8,857 aégc:ne‘s. 4
C. &S e ELATOS BE5TOO N0y SO O O IEIEIE.
D. NO, B0 TFETE)S & 3¢5 1565550 Peroxy Acyl Nitrate (PAN) D83¢k0e.

QA0 A (523N, «OTRTARVN :
(1) A,C,B,D 2) A,DC,B (3) A,D,B,C (4) A,B,C,D

R
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26.  Which of the following statements are tru¢ 4 . " g t:"lhf« gases !
' ro VR
A. Greenhouse gases absorb long wave fﬂd‘“t’of’ s ‘Rart.h.
B. The greenhouse effect is responsible fur(hPatmg of the Barth’s surface and atmosphere.
i : T 18 g > & -

C. The greenhouse effect causes El Nino ef@"t'
D. Few of the direct greenhouse gases undlE% Kyoto Protoco| are CO4, CHy, SFg and SOq.

The correct answer is : 0 2 Ain
(1) B and C only 2 and B only

Y A O
(3) A, B and C only (4) A, CandD only

27. Match the commonly used modern drugs with their plant sources

Drug Plant Source
A. Penicillin 1. Velvet bean
B. L-DoPa II. Yellow cinchona
C. Quinine [II. Penicillium fungi
D. Taxol IV. Pacific vew
Choose the correct answer :
(1) A-IV; B-IIT; C-I; D-II (3 (2 AL BIV; C-I; D-TI
(3) A-III; B-I; C-II; D-IV (J @ AL BIL CII: DIV
N

28. Select the correct set of statements regar@ the effects of climate change :
(1) Decrease in global temperatures, increged sea ice, expansion of tropical forests
(2) Increased sea level, more intense hurricanes. species migration
(3) Reduced agricultural productivity, decrease in renewable energy sources, increased polar bear
populations
(4) Decrease in ocean’s acidity, reduced COg emission, increased glacier mass

29. Arrange the following BIMSTEC Secretaries (eneral in chronological order :

A. Sumith Nakandala B. Indra Mani Pandey

C. Tenzin Lekphell D. M. Shahidul Islam

Choose the correct order :

(1) C,B,A, D (2) AD,C, B (3) D,AB,C (4) A,B,C,D

(]

30.  Which of the following statements about the)United Nations (UN) are correct ?

A. The United Nations has six principal opgans.

B. The General Assembly is composed of representatives from all member states. each of which has
an equal vote. A

C. The International Criminal Court (ICOH being an organ of UN, settles disputes between nations.

D. The main function of UN Economic and Social Council is facilitating discussion and policy
recommendations for the world’s economie and social issues.

Choose the correct answer

(1) C :-md D only (2) A and B only

(3) A, B and C only (4) A, Band D only

31.  Which of the following j omference, 1955 2
L;l) The beginning of the Non-Aligned ;:Z;::E: {;Z;;l \

7 Panchsheel Agreement between India and China

(3) Declaration on the establishment of a New International Economic Order (NIEQ)
(4) The formation of ASEAN

TES.T 224 R (10)
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27.
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31.

BS TR S A0YOEL 00BN 1808 eSS DD HOTSD ?

A (BS 0 P ABNYEN 25750 DOA Jenadcdd @OE (long) BCoiBgco e DEBET) F*8e0 DNToLrow.
B. Zrdd &880 HBAM eSS0 SO S8 s8edw (AS 0 HOSS.

C. S IR 102380 9 S DS (El Nino) (D275 L.

D. §rgeS (Kyoto) [&¢5°°dS (5680 (D85, (direct) (AS 570 Sraineyen COg, CHy, SFg 5805 SO,
NSINESA LA NTO R

(1) B OBAD C Sr(deh (2) A SO0 B A7(cdad
(3) A, B 080w C Srr(edady (4) A, C B0 D Sr|edad

FFOL0M GIrHoh TAHTe 0OAR §37¢3 ) e S0 (sources) ©ad) 23¢5HGITVW :
Cipe Ty A 0o

A DSOS L 3855 HS

B. L-8&& L DY HI A (Yellow) Doz

C. 8538 ML OG0 Hoz2

D. &r§Ho IV.  JADE ol

BN VTR0 DOTNTDD :

(1) A-IV; B-III; C-I; D-II (2)  A-IIL; B-IV; C-I; D-II
(3) A-III; B-I; C-1I; D-IV (4) A-I; B-II; C-III; D-IV

TEIOR D) (DTS D0DOAOD HOTNS 55 DWBA ) Fod :
(1) D28 SN S50, HIWIE S0t DERGB0, GRDOGBE ©hHen DYBED S50

(2) Q(ANYO DBRB0, DBYS &@K) S88S e (intense hurricanes), 2775 (species) &0

(3) SO ered )8 SUWBO, HIBE IS 38 SSBEN SHGBO, |LVSY DetH00E3 BI2r OGO
(4) DI BRS 50 S50, CO, BGES.BB0, rDDSE (glacier) ((3550°F DEHBO

()
$0O BIMSTEC DBLER-256S 0 srerayiies (3635 @008 )80 :

A WS SFodsed ] B. @0 el roB

C. BDIBS B85S & D. O90. FordHdS QN0

DB EITR) DOTHESISM : y’

(1) C,B,A,D 2) AD,C,B (3) D,A,B,C (4) A B,C,D

DET°RS DDBE HoVOBOD 808 FEWIOES DD HB I ?

A 2530788 DS e85 S0WE OorTreD §636Y.

B. D8DBIE 525 IS0 2B (DBAOD EOR, (D63 2,808 Dadrrad 2,60 Jend §O8 Hotnod.
C. 2550728 DS ©ONS oSTSAD 18IS §P (ICC), BT® DG § ITT O S8 0N,
D

. DELoB DD &8, Fr0aNE OGO VYIS (DDOT BFE, FP0aDE WOTO D WAV JPeD§ DO
DS DI TROA.

DB DIFETE0 DOHEDSW : s
(1) C 8080 D ;;;v@,&:ia \ 2) A SB0%0 B S|
(3) A, B 805 C (3D 3 (4) A, B0BA D (&

1955, 2370 ok Sy 30 806 T8S BAFHSS ?

(1) €605 505 ano (NAM) Q80 om0 F?

R
(2) 23des Saver 8 HOIFS 2:)0B0
(3) Grvehd o esos 3@l 1800 (NIEO) DT )YENS (5L
(4) es2y00%S (ASEAN) J°00
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32.

33.

34.

35.

36.

37.

38.

ction with the Bretton Woods Conference :

’n conne . N .
= Hampshire USA, to discuss the post-war internationa|

Consider the following stateme

A. This conference was held 18 1944, at New

B. ;{;1“; E{I:j;:eiiz:paved the way for the formation of International Monetary Fund (IMF) and the
World Bank,

Which of the above statements is/are correct ? (2) Aonly

(1) B only (# Both A and B

(3) Neither A nor B
i i itiati D:
' ] ts in relation to the Belt and Road Initiative (B_R '
Consider the following statements 11 B o e ir i 2015,

A Iti lobal infrastructure project that was CEvE . g L
B. It 1:; ii%nldaaillst:engthenin; China’s soft power in Asia, Africa and Europe by establishing land
and sea trade routes. [‘f"
Which of the above statements is/are true ? |
@) Only A is true

(1) Only B is true
(3) Neither A nor B are true mJ Both A and B are true

Which of the following organisation has jurisdiction over the Convention on the Prevention and

Punishment of the Crime of Genocide, 1948, also known as Genocide Convention '7'
(1) Permanent Court of Arbitration (PCA) (2) International Court of Justice (ICJ)
(3) United Nations General Assembly (UNGA) |(4) International Criminal Court (ICC)

Which of the following statements in relation to SWADHAR Greh Scheme are true ?
A. It is meant for Tribal women.

B. It is funded by the Union and State Governments.

C. It builds houses for women.

D. It provides legal aid and guidance to women. _
Choose the correct answer : 4

(1) B and C only (2) A and Bonly

(3) B and D only @) A,B and D only

Which of the following schemes/provisions kglare specifically meant for the socio-economic
development of Scheduled Tribes ? N

A. PM Adi Adarsh Gram Yojana B. Grants under Article 275(1) of the Constitution
C. PM Janjatiya Vikas Mission D. Atal Vayo Abhyuday Yojana

Choose the correct answer :

(1) A, B and C only (2) Aonly (3) B, Cand D only (4) D only

The Cabinet Secretariat of India is organised in three wings. Which one of the following is a part of
the three wings ?

(1) Social Policy Wing (2) Military Wing

(3) Agricultural Policy Wing (4) Fiscal Policy Wing

Which of the following models of District Adminigtration that emerged in post-independent India are

true ? o

A. The first model emphasises separation of regg};ﬁtory functions from development functions.

B. The second model stipulates combining regulatory and development functions, under the control
of District Collector. o

'C. The third model recommended by Sarkaria Commission was for unification of regulatory and

development functions at the district level and decentralization at lower levels.

Choose the correct answer ;
(1) A and C only (2) A and B only
(3) B and C only (4) A, BandC

EYE
TES.T 224 R - (12) %%;




S i

32.

33.

34.

35.

36.

37.

38.

BES $& ) 5°3)BI% QOVOHOD 8od

A & SI)BS) 1944 S B Q, A
order) a2 W8 Y0 28R08.

B. & 55 00, @087 a0%H (555 A (IM IO (3 '

3 - (D0 2508 DT e 6 B0d,
D VDSBS gt DA/ 2,59 ? By J o
(1) B So(edad

y (2) A Sredsd
(3) A 20605 B Bodr 5 ILEI :

BOF O (o0t :
§ 750D W6 S, OWFI0SE @OSTAND e 1Ko (economic

i
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¢3S’ O ?

(1) 3% 565 053868 ¢ TSNS (PCA) (2) @OSTBAD T°OD SO (IC])
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D. QDIFO5 T30 D308 8050 S8 5556 k1 EO10t0%.
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(1) B 0O C Sr(essdh (2) A HOCIM B Sr(gdad
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(1) A, B8 C Sredad| (2) A &’15‘Le‘§33< : (3) B, C 00050 D Ir(ebsd (4) D Sr(edad

2TOSTE S HTVE SDTOADIN ST DFFEVT S5SVEB0DDAIE. 808 TAS* D Dartidn wodne' 2.8
(1) FSrBE DG JaFHiadn ] @ 2% derisw
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39. Consider the following in relation to0 the Production Linked Incentive (PLI) Scheme for Nationa]
. 1daer e followin _ '
- i Solar Modules : |
ir{}%r}fi?lf i I?hg'h Eg:;ffti);l by the Ministry of Power, Government of India. |
B' It aims E;fels E;pan ecosystem for sourcing of local materials in solar manufacturing.
d ve
' i correct ?
Which of the above statements is/are @ Aonly

(1) B only (4) Both A and B

(3) Neither A nor B |
40. Which of the following is/are true in relation to the Pradhan Mantri Kaushal Vikas

‘ = ? "
Yojana 2016 — 2020 ? st skill development training and certification.

A, Tti t-based scheme, providing free of co
B. 1t I}Taaélgi;rx:;l co:i;auniflts knol:vn as Centrally onsored Centrally Managed and State Sponsored

State Managed.
C. It provided skill development training to schael, college dropouts and unemployed youth.

D. It initiated a process of creating a registry of[BKills.

Ciwose the correct answer : (5
(1) A, B and D only «2) A, Band Conly
(83) A,B,Cand D | (4) A, CandD only

41. Which of the following are areas where the civil society organisations can contribute to good
governance ?
A. Mobilizing people to take part in public affairs
B. Promoting cross-cutting business groups
C. Improving transparency in governance
D. Promoting competitiveness for individual gains
Choose the correct answer :

(1) A and B only (2) B and D only
(3) B, C and D only {3) A and C only
42. Which of the following measures did the Second Administrative Reforms Commission suggest in its
reports to ensure ethics in governance ? )
A. Liability of corrupt public servants to pay da@ ges
B. Protecting whistle blowers &

C. Continuation of discretionary funds at the diéposal of legislators

D. Restoring Official Secrets Act
Choose the correct answer :

(1) A and C only (2) A and B only
(3) A, Band D only (4) Cand D only

43. Which of the following was the Mahasanghika centre during the Vishnukundin period in Telangana ?
(1) Keesara (2) Bavapuri ' (3) Indrapalanagaram (4) Kallacheruvu

44. Consider the following statements :
A. Jayapasenani referred to a dance form called Kollata in his work “Nrittaratnavali”.
B. This dance was performed by Dommaras in T@angana.
Which of the above statements is/are correct ? -
(1) B only (2) Aonly S.é) Neither AnorB (4) Both Aand B
45. Consider the following statements : rl
A. Baddegeswara temple is built at Vemulawadas
B. ‘Kalyanakaraka’ was a book on medicine in Pfakrit.
Which of the above statements is/are correct ?
(1) B only (2) Aonly (3) Neither AnorB  (4) Both Aand B
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D. 20 SYNSOD 2.8 828J8 Srdrodod 1HE0HSD 13r80D0D0H
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(1) A, B 8aw D Sredsdh (2) A, B OO C &Sredad
(3) A, B,C 8 D (4) A, C OS5 D &Sr(¢hadd
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A, (D SINTTOS” Fren HDOHTISIR 239 HEESD TAHAO

B. ) (cross-cutting) S5°S ST |96 IPOHBH0

C. OIS FEDSIES Doth DES0

D. S58K6 erarers 8¢ S (D) 1912 0sE0)

N0 QTR0 DOTNT DA ()
(1) A B B S(edadd &) (2) BB D Sriehsd
(3) B, C 08050 D S5 ] @) A8 C Sresdh
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47,

48,

49.

50.

51.

52.

TES.T 224

Choose the correct order :
(1) D,B,C,A @) B.D;A.Q (3) A B,CD

Match the following authors with their works :
Author _ Work

A. Singama Nayaka I Chandodarpanam

B. Peddana 1. Vikramarka Charitra

C. Ananta I11. Ratnapancalika

D. Jakkana IV. Kavyalankara Cudamani

Choose the correct answer :

(1) A-III; B-IV; C-II; D-I (2) A-IV; B-1II; C-II; D-I

(3) A-; B-IL; C-IIL; D-IV (AL B-1v; C-I; DI

Name the foreign traveller who visited GolcundEE,;in the month of ‘Muharram’ and reported the
clashes between the Shia and Sunni sects of Musli 3

(1) Jean-Baptiste Tavernier (2)m Jean de Thévenot

(3) Duarte Barbosa (4Y? Francois Bernier

Consider the following statements :

A. The Qutb Shahi style of architecture was a mixture of Persian, Hindu and Mughal styles.
B. The Bala Hisar Gate has the figures and emblems of Hindu mythology.

C. During the time of Abul Hasan, a temple at Anantagiri was renovated.

D. Shias Emblem of Five is inscribed on Charakamans.

Which of the above statements are correct ?

(1) B and C only (2) A and B only

(3) B and D only (4) A, Cand D only

Consider the following statements : O

A. Pampa Kavi’s ‘Vikramarjunavijaya’ throws som%ight on Mudigonda Chalukyas.

B. Krivvaka inscription mentions the conflict betvsmn Mudigonda Chalukyas and Rashtrakutas.
Which of the above statements is/are correct ? s

(1) B only (2) Aonly (3%? Neither AnorB  (4) BothAand B
Who among the following was the author of “Prataparudra Yasobhushanam” ?

(1) Mallinatha (2) Vidyanatha (3) Sakalya Malla (4) Iswara Suri
Consider the following statements :

A. At Srisailam, God Mallikarjuna was called Chenchuramayya.

B. Tikkana propagated the Harihara cult in his Mahabharata.

C. ‘Anantarundhati Vrata’ was an important activity during the Kakatiya period.

D. The Panditaradhya matha was located at Tirupati.

Which of the above statements are correct ? C]

(1) A and C only (?Q_jA and B only
(3) C and D only (49 B and C only
Arrange the following institutions in Hyderabad inghronological order of their inception :

B & St. George’'s Grammar School

A. The School of Engineering
D. Dar-ul-Uloom Oriental High School

(. Madarasa—i-Aliya
4) B,C,D,A

ok
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Je3aves IR

A 20088 TCHEE L So&883800
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D. 28, IV. 538005 55¢hedned

QO RAAFET'A0 DOTNT W : _

(1) A-III; B-1V; C-1I; D-1 L (2) A-1V; B-1II; C-II; D-I

(3) A-1; B-11; C-11I; D-IV fol (4) A-III; B-1V; C-I; D-II
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(3) B O D SrsdH > (4) A, C 208050 D S8

-'\ |
49. & (500 T RO HAKBOoTHAN -

A HOD I Y ‘DEITrDIBOHSN’ SNOFO THE5 HBOD Fod BenHeS) .

B. (8538 3RS0 A0S trshEvgen é)qgm Ol 80730 NS 0a0PdE HBO0D Bew)edad) .
2 TERLOS /D HDBIA/D ?

ﬂ.corm

(1) B Sredsd (2) A S (3) A OO BBOErssy (4) ADOASw B 3odr
50. (808 T30S JIB IDHTIRDIS AHTETAS0” (O Sdowes ?
(1) OO (2) DL IR (3) e HO (4) &35 &rd

51. &:2(808 75500 J8H8eS0THA
A 2300 HO5HS BIHA ToHTHANS D DOTar.
B. &, &S 1505000 05327850’ 78S 3075 SEOTW.
C. '@S30SEO0GS (S50’ SESAN 5706 SN SeGHFW.
| D. H0BTTEGS BN BHHBS oBd. ()

2 50 DD DBID ? @

(1) A DHOBAD C S E’ (2) A DB B Sr(edad

(3) C DBC5) D Sr(edad = (4) B O C Iredvsd
52. =rooerd &S & 180D HOPO (GOSN L&%ééw 3G (800 (AW :

A. 20200800 S B. W08 &30 b &) S

C. NHOOEI-2-9O O D. TOS-&ra L3a0oeS TS

58S (88 DOHE0S :

(1) D,B,C, A 2) B,D,AC 3 ABCD (4) B,C,D, A

— EEE

TES.T 224 R (17) Ol
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53. Identify the correct pair of the _ Bala Sundari

(1) Kodati Narayana Rao _ @olconda Papgditula Sanchika

(2) Suravaram Pratapa Reddy palle Pataly

: ‘chna Sastry — o
Ei; EallapajklrlllAnimha R _  Neelagiri Kavula Sanchika
unna Anjaia cEl . :
; icallorder of their establishment :
. : . _+:ong in chronologl eir
54 il'l‘ ;Id'lag: thr?* g::lijnl:vmg organisatio f‘ Arundatiya Mahasabha
; angi Sabha M bha

C. Ambedkar Youth League v S

Choose th t order :

W ABDC @ C.B,AD () B,C,D,A (4) C,D,B,A
55. Consider the following statements : )

e only after the Satavahana period.

A. Fourfold division of the society had__j:aken ShaI.J '
B. The Joint family system was not followed during the Satavahana period.

Which of the above statements is/are correct ?

(1) B only (2) A only (3) Neither AnorB (4) Both AandB
56. What is the Buddhist prayer hall called ? |

(1) Vihara (2) Stupa (3) Arama (4) Chaitya

57. Consider the following statements about Ikshvaku Sri Shantamula :

A. He patronised Vedic Religion. »
B. He performed Asvamedha yagna at Jaggaiahpét.

C. He had donated Hiranyas to Buddhist Sanghas and Jain Basadis.
D. He was a devotee of Mahasena Virupaksha. :_’:;

Which of the above statements are incorrect ?

‘(1) Band C (2) AandB (3) CandD (4) Band D
58. Consider the following in relation to the supply of LPG domestic cylinder at subsidised rates under
the Mahalakshmi Scheme :

A. The scheme is applicable to white ration card holders.
B. The State Government would transfer the required amount to the Oil Marketing Companies

(OMC) on an annual basis.
C. The OMCs on their part would transfer the subsidy amount by Direct Benefit Transfer to the

beneficiaries.

D. The supply is limited to average of the last -Flve years of consumption of cylinders by the
respective household. s

Which of the above statements are correct ?

LA

(1) A, B and C only (;5353 A,B,Cand D
(3) A and D only (4), Aand C only

59. Consider the following in relation to the ‘Gruha J y%?hi’ scheme of the Government of Telangana :

A. All the residents are eligible for free electricity up to 200 units per month, either for domestic or
petty business.

B. DISCOMs will send the details of subsidy to be received in the scheme by 20th
and Government will release the subsidy amount to DISCOMs. . of every month

Which of the above statements is/are correct ?

(1) Bonly (2) A only
(3) Neither A nor B (4) Both A and B

TES.T 224 R (18) 5’%‘«
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53.

56.

B7.

808 e3¢5 HBON 25 KOO -

(1) Sored ook om) — e OGS

(2) QBS50 |Hewd B - S0 H0be HoDK

(3) O ¥ID @d0es 90 TR - DS Jreren

(4) ) oA - QOAB Ehe) HODE

& (508 ¢ YIS SOSATDI GO (A -

A Sréof e B: | @808A0%H i3z

C. ®@0z¢5)6 ahres OF Di, S0RT) 85y Sos5s

QB (3 DOtHE0A : g |

(1) A,B,D,C (2) C,B,A,D {3)] B,C DA (4) C,D,B, A
& 808 TN DOHLFOTHA e

A, FTSITIOO ST b SO0 I SD DSdresneorand DRI3ID BIEPOCHEISY B,
B. TSIFTDO SO0 G803 FEN02) S5398 O80Ty,
D DO AN DTSE/D ?

(1) B Sredd (2) A Sr|edad (3) ANOCSw BBOGr 5%  (4) A SO0 B Bodky
TR (PQT® OB D0CHED ?
(1) IS (2) AW (3) e8T%N (4) Jebs

QAT S50 2 TOSIrenDE HODOOOD & (806 (HAISeE HOBBOTOI -

A RSB IOF HSIN FAOT.

B. 2fahsand’ ad ©f 556 avgamn Ao

C. &Y DONINSFO B B 2HBOK 2 Ee0 3wk TSRV,

D. RS0 DIV JEFFE S0 By, 3Py, L

D TEDEOS’ D JBID 529 ? le

(1) B8asw C (2) A 805w B (3) CBa™ D (4) B S80O5 D

DO HHE0 (808 KYSr wSHTe QWL0 O.JE. IR VO0BGH DG SS0B JSIT° ToHdo

A8 HODOHON 1808 ¢33 HBHB0B0A

A & DP¥0 BO BAS 57 EOBANS) TOE SO0,

B. & JO%0 @9HenH @S0G B$en)cd esond £78;¢30h 50D (OMC) o 0% TAIOES 28
TROA.

C. sawd 38300 50 (OMC) e DO FOOBIOVS HDIAOD (DS1E 1DTrES 22858’
JIPBS’ BOJ .

D. R VO0UE SO DO WA §YeTairassdrd LT Hed D H0S BSOS HEEVS TAS oD
D83 D BTG DA G0LNOD.

2 3506 DD JBID ? .
(1) A, B 5800 C S5 (2) A, B, C O D
(3) A B0 D S5 E@ A HOA C Sr(ehsh

BOOMED DY § tga> S5y HHTRE 30220600 (FOB °¢3 HBKeSo30S -

A, ®J) 850 (YT ANBITDEN/OYTHN KIS BIIT OIS B VWIS WIS IO 200
O QE) SBE SDSOMT D §2¢3 (DC0§ER) IIATTFTIE ewHew.

B. & D350 (808 HFoBIOIS DG ST (DBT© 208 BO S5y B0 HOHW, TV (DGO
(5325065 50 D) YA BT, Ao DeIe TROE.

D TDOS DE/D DDA/ ?

(1) B &S|ebedd (2) A Sredsd

(3) A SHOASH B BOSr S') (4) A DB B Bodhy

| OR{0
" TES.T 224 R (19) %%E




60. Match the following lift irrigation project
List I

Lift irrigation project/barrage
Mahatma Gandhi Kalwakurthy

J. Chokka Rao Devadula Lift Irrigati
Chanaka-Korata Barrage

Choose the correct answer :

(1) A-II; B-I; C-III; D-IV

(3) A-I; B-1I; C-III; D-IV

61. According to the Spac

following are part of the Space Market Valu

A. Launch Services including Teleport an

Nizam Sagar Project on Scheme I11.

s/barrage With the rivers -

List I1
River

Lift Irrigation Project [ Godavari

II. Krishna
Penganga
[V. Manjeera

(2) A-II; B-I. C-1V: D-III
(4) A-II; B-Iv: C-I; D-III

e Tech Framework {115}1'11 2022, of the Government of Telangana, which of the

ie Chain ?
“Mission Control

B. Satellite Manufacturing/Launcher Manufacturing
C. Satellite Operations and Capacity Serﬁges
D. Establishing Space Stations in the Orbit

IChnuse the correct answer :
(1) B, C and D only
(3) B and C only

(2) A, Band C only
(4) A,B,CandD

q

62. Which of the following statements about N_,ﬁﬁﬂﬂﬁl Food Security Act, 2013 (NFSA) is/are correct ?

A. It provides coverage up to 75% of the total rural population.
B. It covers the two categories of beneficiaries, i.e. Antyodaya Anna Yojana (AAY) households and

the priority households.

C. Pregnant women and lactating mothers _éire not entitled to get a free meal at the local Anganwadi
centres, as well as the maternity beneﬁfs_.

D. It includes only mid-day-meal schemes.

Choose the correct answer :
(1) B only
(3) A and D only

0
C} (2) A and B only
& (4) A,B,CandD

63. Which of th(_e following statements abolj_;'ig the objectives of Pradhan Mantri Anusuchit Jaati
: Abhyuday Yojana (PM-AJAY) are correct 21

A. To improve socio-economic developmental indicators by ensuring adequate infrastructure and

requisite services in the SC dominated

villages.

B. To increase literacy and encourage enrolment of SCs in school and higher educational

institutions with residential facilities.

C. To reduce poverty of the SC
through skill development,

D. Itis a merged scheme of thre

communities by generating additional employment opportunities

e Central}j;}sponsgred yojanas namely — Pradhan Mantri Abhyuday

G Yoj e j
ram Yojana (PMAGY), Babu Jag]l?;'ajn Ram Chhatrawas Yojana (BJRCY) and Atal Vayo

Abhyuday Yojana (AVYAY).
Choose the correct answer -

(1) A, B and C only
(3) A and D only

TES.T 224 R
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""; (2) A and B only
~ (4) A,B,CandD
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808 Qe TS IBFBEN/BIEED SEHOE 285550 -

arddes | 2es 11
D& F DS DSBSV @855 H&SE0 N
A, DIBTUTOO S0 5500 IS s> B8 1. Forss
B. d2ro b (25 1. ¥yar
C. 2. TS0 BIOO B HFS HDSE0 1L S Korr
D. O5-50°8) esdS8E IV. oo
QDR QIR0 0dOTNT AW !
(1) A-II; B-I; C-III; D-IV (2)  A-Il; B-I; C-IV: D-111
(3) A-I; B-II; C-III; D-IV (4)  A-Il; B-IV; C-I: D-III

SO0 (DS VIV VS (DD 36 DS 2022 (5560, (808 ¢3Sk D6 2 )R SI04E5 DS Fend
(Space Market Value Chain) &S 2N ? ¢ ~

A DO HOA VIS S0E'S erotd Do [ gozso
B. &I Q0 60/e3r0w30 (I3 J°8) o0 &2
C. &N SPYLEreN QOGN DS Weden L]

D. 3555 AV VAN A0™HE0 L{j

RO AR DOTDFT AW :

(1) B, C 08w D S8 (2) A, BSOS C Sredsd
(3) B DBAW C Sre83d (4) A, B,C&0as» D

2B B SIS DO, 2013 (NFSA) £ H020H0D 180B T5°536T DB/ 2,5 ?
A 20 SO T BrS' 75% 6% §5B2E @0HN0S.

B. 20 DO e ©Qmrde, ie. @OSEaDH @) BIES (AAY) Kyaraden 805 2Pardses EOAS

YT OF) SO0A.

C. 58)8 N HBAW FOT) SVen FAE BOKS TAOS DS 5250 HOOW (HIrS (HErBT eV
FORTAS dex 57, (\;F

D. &S gs) %2 HHEO SrevsH Hoo. O

N0 R Va0 0D ]

(1) B S (8 A SO B S

(3) ADOA D Sr(edsdH @ A,B,C 580 D

(DS OB NIFDS 2re @20 e (PM-AJAY) H80DS & (808 o550 D HBID ?
A RETS Here (DN OEOMT &) (TSreddS SRS TOE HEHardiren SO @SSRS DO
QAT OO0 7 S0° FraTr25-e308 @2)5)d rdEerD EMD BB 0.

B. @508 DOFOOOISBO HOL AT FE0° e SrdS FEae) HOAW &) IaridoRedss’
7O H0ere DL S (85650 013¢50.

C. BIFTDI9D T 30° BN Grd BISTOD DINOTIB0 T T° WX e EXarsdede DRSO
sfosdo.

D. Sorch Bol (T8 DA - (DG SO @ISO (T T3 (PMAGY) H8AK 2320 2058
oSy @R G3resd (BJRCY) SH8O5w @eaéé 3 @HIBAD Trad (AVYAY) dDS0 I &

JHSRQ), (FrE0doTd. =
DB S DS GES0 ORI
(1) A, B 08050 C Sr(ehad & A S8 B Sr(ehad
(3) A OBAM D S5|edadd @ A, B, C 00D

E8E
ES.T 224 R (21) lﬁigﬁ




64. Consider the following statements.

g inalised social
, : e for the deprived and marginalise

: ! imalioe rovidod f S e t process.

thiﬁﬂ:;ﬁ;iiizcs:;::f: alnd tpo get their due share in loca] governance and development P

Reason (R) :

Decentralisation and democratisation
social groups like Scheduled Castes, Sch

Choose the correct answer :
(1) Both (A) and (R) are true and (R)
(2) (A) is true, but (R) is false.
(3) Both (A) and (R) are true,

gections for

d
process helps to protect the interests of the most excluded

eduled Tribes and women.

1S I:he correct explanation of (A).

but (R) is not the correct explanation of (A).

(4) (A) is false, but (R) 1s true. O
65. Match the following health missions with tiiglaunching year :
Name of Health Mission % Launching Year
A. National Rural Health Mission | E 2018
B. National AYUSH Mission i 2008
C. National Mission on Medicinal Plants III. 2005
D. National Health Protection Mission  IV. 2014
Choose the correct answer :
(1) A-II; B-I; C-IV; D-III (2) A-IIL; B-IV; C-I; D-1I
(3) A-IIT; B-IV; C-II; D-I (4) A-IV: B-1I; C-III; D-1
66. Match the following Acts with the year :
Act Year
A. The SCs and STs (Prevention of Atrocitfes) Act I 2016
B. National Commission for Safai Karamcﬂugﬂs Act II. 1986
C. Child Labour (Prohibition of Regulation) Act III. 1993
D. Rights of Persons with Disabilities Act g IV. 1989
Choose the correct answer :
(1) A-II; B-I; C-III; D-IV (2) A-I, B-II; C-IV; D-III
(3) A-IV; B-1II; C-II; D-I (4) A-III; B-IV; C-I; D-II

67. Which of the following Article of the Indian Constitution is not related to economic safeguards
provided to the Scheduled Castes ? ‘
(1) Article 46 (2) Article 23 (3) Article 34 (4) Article 24

68. Which of the following statements about Article 15 is/are correct ?
A. The State shall not discriminate against any citizen on grounds only of religion, race, caste, sex

place of birth or any of them, ¢)
B. No:thing in this Article shall prevent th{ﬁtate from making any special provision for women and
children. o
C. Equality before law.
Choose the correct answer : V2]
(1) A and C only i (2) A and B only
(3) Bonly (4) A,BandC
TES.T 224 £ %
(22) Okag



64. (508 T55OD HONEFOTHSW
) D85 (A) :

(DERI0§ IBOOEBE @mBD SHBA &I GS) FITRE STOR TO ASrere BOroed

DB 'L TS B @DSHB (DEAHES' B8 SRS T OO AL @I5°F0 OO
5020 (R) : |

DSo|HEG 5’»603)) (D" DG (HEAH S Hoerew, AT BHen DHOAD HArTen 3063
OSFO QAT ANOWVAAD 323 SO (DB QOBE 0GRS HTFADH HEB0H.
QB DAFT'RO0 DOTNT AW

(1) (A) O (R) BOAT Q230 SHOAKW (R) @0TE (A)50 DB D530,
(2) (A) D20, 5 (R) ).

(3) (A) OGS (R) BOAr A0, SR (R) 9T (A)F0 HBS Dedsen s°¢%.
@) (A) &), 5 (R) d20.

- 65. 800 @85 DA O FER (D E0D0NDS Ksoéégéé@} 25BN :
&8¢ Da3S DD (EREODS D0aSe8 )50
A 2raaD [T a8 AN . 2018/ |
B. 2a30d &R (AYUSH) 10 II. 2008 Ef;
C. TAXS DAS &8 DAVNSO oSy III. 2005
D. J33S D (FBES WA IV. 2014
IBS DATETI0 DOHTDHAD :
(1) A-II; B-I; C-IV; D-III (2) A-III; B-IV; C-I; D-II
(3) A-IIL; B-IV; C-1I; D-I (4) A-IV; B-II; C-III; D-I
66. S0O VO T3 HOSS YT O 23530 )W ;
IGO0 03 )0
A. SC B ST ©R HTeiEre (@|erded) TGS 1. 2016
WAL )
B. IS AN H6 Hraw S50 &0 I, 1986
C. o508 (AN AA0) IO iﬁ. 1993
D. d8eroHe 80 &0 : ‘1})}I 1989
OB DITFETS0 DOTHTSW : N
(1) A-II; B-I; C-III; D-IV (2) A-I; B-II; C-IV; D-III
(3) A-IV; B-III; C-IT; D-I (4) A-1II; B-IV; C-I; D-IT .
67. (808 ¢3S D OESR0 28 TrarioNoS D D fuere el 85 o5 HooHODIL SR ?
(1) @580 46 (2) @560 23 (3) 58000 34 (4) 800 24

68. @OES00 15 HB0D 1808 TS’ D FEF0/TS e SBIO/NOBID ? |

A (DEDS0 T HE D6, 58, oo, ol HBS (HBTe Bo FBS B BETEOTIT Jeroed JSE,
PO TC.

B. 206550 [R5 B0 DRO (HBE SHeen §OI0DBER) & @I8R0 JBHOTM.,

C. B0 SVCE DT 30. |

¥ “ S e T F -
QB S AT LTG0 2)OTT R 55

(1) A BG5S C S3ebsd (2) | A B0 B SehD
(3) B S3ehad (4),, A, B 8w C

3 (s] E:]‘
TES.T 224 R (23) Dot




69.

70.

a1,

72,

73.

74.

75.

‘ ?
a Greh', 2 shelter hopme for transgender persons

_ ‘Garima
Which Ministry inausmatgégﬁn pevelopment

(1) Ministry of Women an |
e 1y Welfare
(2) Ministry of Health and FamﬂYEmpOwerment

(3) Ministry of Social Justice .
(4) Ministry of Housing and Urban Aﬁ'an.‘ﬂ.. _ b | | farming ?
Which of the following schemes is aimed atrprﬂi_lfo INg chemiggl-free na.tillra arm; gd‘-ihati
(1) Agricultural Mechanization Scheme - (2) Bharatiya Prakritik Krll.'f'.hl ‘ a

(3) Vikeit Kisan Bhasat SUhe o0  (4) Farmer Producer Organisation Scheme

. . ts is/are trué 11 7
g‘];:;lc;e{c;f f: ethlali:;?é Séi?;cﬁ;’ __Proﬁsional--EStlmﬂtES — 2023 published by the

elangana ?

‘ istics of Government Te | _

A ronentic Product of Teldngana at current prices was more than thirteen lalh crore
| | e

rupees in 2022 — 23.
B. Telangana’s Industrial s
Ch the correct answer : n
(1)D;S§nlye 5 (2) Aonly R LA (3) Neither A nor B

| W
Which of the following statements related to Interim Union Budget 2024? — 25 are true ?
the share of Gender budget is more than six percent.

A. In the total outlay of the Union Budget, :
B. Estimated Fiscal Deficit is more than five percent of Gross Domestic Product.

C. Tax receipts are estimated at less ﬁhan.25 lfikh crore rupees.
D. The increase in Gender budget allocation is 20% more in 20

budget estimates of 2023 — 24.

e in relation to Telangana Economy, as per the data
Directorate of

ector acha.evéﬁ'a growth rate of 13% in 2022 — 23.
il (4) Both Aand B

24 — 25 budget as compared to the

Choose the correct answer :
(1) B and C only (2) A and B only
(3) A, B and D'only (4) C and D only

Which of the following statements are true in relation to the Five Year Plans of India ?
A. One of the main objectives of the 5% Kive Year Plan was ‘Removal of Poverty'.

B. To achieve Growth with Stability wasone of the objectives of the 4*® Five Year Plan.
C. The focus of the 78 Plan was on Food%ork and Productivity.

D. The main objective of 9th Plan was to ieve Inclusive Growth.

Choose the correct answer : v
(1) A, B and C only e (2) B, C and D only

(3) A,B,Cand D (4) A and D only

Which one of the following statements is/are true about the progress of the Sustainable Development
Goal 2 (SDG 2) ?

A. The world is not on track to achieve zero hunger target by 2030.

B. Burden of malnutrition in all its forms remains a challenge.

Choose the correct answer :

(1) Bonly (2) Aonly (3) Neither AnorB  (4) Both Aand B

According to the Household Consumption Expenditure Survey 2022 - 23, which of the following
statements are true ?

A. Chhattisgarh has the lowest rural and urban Monthly Per Capita Expenditure (MPCE).

B. Rural-urban difference in average MPCE is the lowest in Meghalaya.

C. Sikkim has the highest rural and urban MPCE.

D. Chandigarh has the lowest MPCE in urpan areas.

Choose the correct answer : Ty
(1) B and C only o7 (2) A and B only
(3) B and D only (4) A and C only

o0
TES.T 224 R (24 ) m«)%;:




69.

70.

T72.

TES.T 224 R ( 25 )

2 S0O(BS § T €7 ) BoBD S5 TR0 KO Ky &S| O §)3*D |*E0D0D0A ?
(1) (R 0805 3D ©DSHO S0\ Beb 5 77
(2) @875 OO Fen02) HOF S OIS S T

(3) ATRE TONO DOBCKND QS EeS D03 § T2

(4) BT DB DEPED S350 O(E3ed S TR

-
& (808 JIHSTOS’ DO BN -BEred Hires SIS OETR), 865 )er0t5erDE ATROSDAIE ?
(1) SO O OO BESED DHESEO (2) /278050 |75y HE Ey2 HOS

(3) DEVS IS 78S HEHKO 2:0 @] B oher e -aes ) Barhe H09 HEo

£fd
SeOMTe |Dehed § Q8 :»agm fEros @OFOES 000D Berome @Y 5155 &e),d¥ wosTren-2023
D580, SOOI BT SEHIPH H020HOND (808 T iwseres’ DA/DD 2.5 ?

A 2022-23 & SOOTR WO O BITre)B (GSDP) (Ve S 13 ofer T8 Srarabher L0
DM FOO.

B. 2022 -23 &' 800 TnE) 0T S060 13% $98 Bt SO0,
QBN VAT DOTNTQW

(1) B e (2) A Sredd (3) A DO B BOGr st (4) A SBCSH B Bodr

08508538 oIS 2FES 2024 — 25 § H020HON (80O T §Ww5eeS’ DD 2.8)) ?
S0l FE InSo S5000S Dol FE ¢ 6% 50T JE0YST GO,
ODT” IODVAN (357N Qre> BT YB3’ 5% 0T ), ST S0b.
SOVT” ICDDAD DY T°EA 25 ©F O T8 SrarohHer S0T 80, GOd.

2023 - 24 AFE OBITOS O IR, 2024 -? } 23¢ & Dol 2FE TeronoD) 20% HEV)ST
GO8. \

DDA DITEE0 DOTHEDI - =
(1) B SH8AD C Ir(edsd (2)'ﬂﬁk 58050 B 3r¢53h
(3) A, B HH8cw D S8 (4),.C 505 D S

25 B3 HOWSY (DT PEDH H0220H0D (80O T35S’ 0D 2y ?

A, RE0E AETOD OO 9GS HOISY (DEFVE TW0EY, (DTS GFTOS 2,863,

B. DI3S508 SrAS SHO0D FAOHEI0 TS HoNSY (DT D8 TwE), o ToS 2,563,
C. DS DOVINEG |DETPE BI°B0, GrS HOAW &&°YOES D HgamrardoD0d.

D. 29 398 (Inclusive Growth) & AFOOIEI0 SIS (DETFDE TINE}, (DTS SB30.
QAOR QDATETA0 DOTDT AW

(1) A, B 8350 C Seedadd (2) B, C O D Sr|edd

(3) A,B,CDBa»D (4) A O D Sr(ehad

QORTDIHB ©3F 50 2 TwEy, oD HTIBS Ho0H0N 1808 TIDIOS DE/DD 2 ?
A. 2030 77¢38 (535000 I8 B ) essd) @55&)5-;‘]*@03 HOVBS’ B,
B. IS S5meniT &) SFASTFES DO FBogy 2G50 28 Derenr™ &od.

o owp

DB DIFGTS0 OTHTRS | i
(1) B Sr(&3 2) A SRESD (3)., A HOAD BBoGr s (4) A HOA™ B Bodr
B> DTN 5505 &6 2022 - 23 1HS G0, 1506 320" I HBOD ?

A z‘.‘)&ﬁ) S0 SI0E) (e B HEE (rodd Fedd SO0 S5000 (MPCE) @6 $50)Sm &od.
B. Zarecires (mihm-Hee (roere) S0 Oty S0 SO0 S50H0S 8¢ @ SE0SmT 0.
C. 280 G308, (ToDED DB DL FOI0 SOV JANO @S IEVYIT GO

D. S0fin @Bud), BOH6 38 S1000 IO |0TeS @& S50 Sod.

DB DATETS0 DO S ;
(1) B 805 C Srleded (2) A O B reddD

© (8) B 0B05w D Sr(ebsd (4) A B C S|




76.

i

78.

79.

80.

81.

Riv. .
TES.T 224 (26) E‘ﬁg

lowing pairs related to q,

el o 2023 . f the fOl .
00k , which 0 in 2021 — 22 (First Revige,

: omic OU¥* G
As per the Telangana S0€10 'Egnmegtic Product (GDDP) of that district
district and the Gross District 20 frectly;matched ?

Estimates) at current prices 18/ar0, 7 ?lakh crores) approximately

Name of District GDDP L
A. Hyderabad e 1:60 t""l
B. Rangareddy : ©2:20
C. Medchal-Malkajgiri : ¥120 o
D. Adilabad : €105

Choose the correct answer :
(1) C and D only
(3) A only

. (2) A,BandD only
(4) Band C only

$$C1SOG

As per the National Family Health"’é.urveyl- 5, arrange the following States in descending order in

nally ] i ' 29215
terms of percentage of multidimensio ally poor in total population durmg53019Bihar
A. Meghalaya B. Uttar Pradesh C. Jharkhand .

Choose the correct order :
(1) B,C,D, A (2) A,B,CD

As per the vote on account budget of Telangana for the financial year 2024 — 25, presented to the
State Assembly on 10tP February, 2024, the estimated total expenditure is approximately :

(3) D,A,B,C 4 D,C,A,B

(1) ¥2-40 lakh crore 0:@ . (2) %2-95lakh crore
s
(3) T2-39 lakh crore O"i!’l (4) % 2-76 lakh crore
4 .
As per the data provided in Telang f§ocm Economic Outlook 2023, the share of Construction
sector (a sub-sector of Secondary sect§ ( ‘Motal Gross State Value Added of Secondary sector of
Telangana (at current prices and proviéﬂﬁﬂiadvance estimates) in 2022 — 23 was around :
(1) 14% (2) 27% ™ (3) 23% (4) 19%
Match the following in relation to 2023 l\ilﬁbel Prizes :
Name of the person Subject [Field
Jon Fosse I. Physics "éj'

Narges Mohammadi II. Chemistry
Aleksey Yekimov III. Peace
Ferenc Krausz IV. Literature

V. Physibldgy or Medicine
Choose the correct answer : ()
(1) A-IIT; B-IV; C-I; D-II 7 (2) A-III; B-IV; C-II; D-V
(3) AV; B-IIL C-I: D-II L] @ AIV; BAIL CIL DI

&
Which of the following statements abodf'G-20 is/are correct ?

A. India held the. presidency of the G-20 from 15* December 2022 to 30th November 2023
B. New Zealand is a member country of G-20 as of 2023. |

C. G-20is the premier forum for international humanitarian co-operation.
D. G-20 was founded in 1998,

Choose the correct answer :
(1) B,Cand D only

(3) A only

Sowp

(2) A, BandD only
(4) A and B only

2o



76. SO r3res el S De80-2023 (D5°50, BOrdS' 2een) SHOA el QQ0EY, (DS 980yt

e 2¢ B2Tred e ([cde3 DS80S @oSaT) 2021 — 22 & 30208098 (808 ' v
2650080 2G5° 00 ? ‘ G zd0S" 3 2009 )T

2207 DD AT 2T TP eS)EB (T o5 EBY PO
A. 3rdoerd . T1-86
B. S0mr0e . %220
C. DSOS - A : £1-20
D. esbererd . %105 O
3B DTG0 DOTDEIS : O
(1) CSHBckw D ST ¢ (2) A, BB D S
(3) A Sr(ebad (4) B OGN C Sr(edad

P 5 A
71. 2805 SHenon ebiis D055 HSB0, 2019 - 205 Bndo 2TersS’ 2ITVINY DAY TSo Lo
1808 TTFOD BITIED 180065 @065 15m :

A DO B. &0 1083 C. &rdod D. DB
HBS (57 DOTNT N
(1) B. C, D,A {2} A, B, C,D (3} D,A,B,C (4) D, C, A-,B

78. 2024 - 25 &08 505630708 H020HOW, 10 DS, 2024 T SO TR 0D |DSF IS
B0 O .8 a8 T8 2B (D5°E0, WOLT® F0HDAS IS0 H3ANO0 ST :
(1) 240 ©F e T (2) T2:95Fe T

(3) T2:39 ©F e T (4) T276 oo T
79. BOOMre FrSr3s ed8 S»pd)(Bo 2023 & ©0bB2:S BTOF0 D550, 2022 — 23 & BOM TR O 5BAH

G080 BWEY WO T e NE0 {@’J@@dﬂé‘ 0005 &E YO V0GB OoTdaTren) &S DT
BOKO0 (B 5B0H BoKoeS’ 2,8 GHG0HK0) TE) TEE DSPET :

(1) 14% (2) 27% o (3) 23% (4) 19%

80. 2023 &S 5055 ITE SBSE ITV0BE éoaao@é% &: 1808 a7¢3 25O Yo :
o358 DD DZI5/Soo

A 2SI I 228)

B. &80 0drs06 I SR

C. ©38) D3 [II. 703

D. 200 1§ IV. Jaredso

V. 38886 7 Q0 8o THG0

DB DeAPETS0 DOTNT ARV

(1) A-1II; B-IV; C-I; D-1I (2) A-III; B-IV; C-1I; D-V

(3) A-V; B-III; C-I; D-II (4) A-IV; B-III; C-II; m

81.  G-20 00D 180 AN S i0eS DO/ )
| A 182005 2022 08 30 5350205 2023 SBEEA-20 8 27ESTH0 58 &S HIT0DV0L.
B. 2023 ar¢38 &rg2erol G-20 S 0S5 BF0.
C. G-20 ®OSTHOH STSDOH HIFETVE H0RRHOD 2.8 DV SFE.

D. G-20 1998 & FDOBDE0A. &

DB DTS00 DOTNT W

(1) B, C 08050 D Sr(ehad (2) A, B 8050 D Sr|ebadd
(3) A Sr|edad (4) A B B anJ'LéL_l

TES.T 224 R (et




] e t_i‘g’r AL
82. Match the following SPOrtSPESOR® Vo g of the spor:

Name of the person L, GyHRe
A.  Pravin Jadhav 11 Gymﬁastws
B. Singhraj Adhana 1. Archery
C. Aaryan Davande b F otball O
D. J.Srimathi IV
v. Shooting O
(ihouse the correct answer : _ (2) A-1V; B-Iw C-1II; D-V
(1) A-V; B-I, C-IV; D-II |(4) AL B-y5C-I; DIV

(3) A-III; B-V; C-1I; D-T|

- i-5 ?
83. Which of the following statements agout P;S:l i Cornen
A. Tt uses a three-stage solid-fuelled eD8¥=x _
B. It is capable of striking targets .ag;i;-g%ges up to 2000 kilometers only.
C. Itis indigenously developed by DRDU- |
D. Ituses Mgultiple — Dependable Ta ':ftable Re-entry Vehicle (MDRV) technology.
Choose the correct answer :
(1) A, B and C only

(3) A and C only

84. Who was appointed as the National Icon for Voter Awareness and E
Commission of India in October 2023 7.

(1) Rajkummar Rao| (2) Pankaj Tripathi ~ (3) Virat Kohlf} (4) Sonu Sood

85. Which of the following statements aboutg@hgmyaan are true ? O
A. LVM-3 rocket is the launch vehicle fg}g;'l.(}aganyaan mission. ¢
B. It consists of solid stage, liquid stage?ﬁ%nd cryogenic stage.
C. It has an Orbital Module (OM) whiéﬂféﬂmpﬂses of Crew Mutﬁle (CM) and Service Module (SM).
D. It envisages demonstration of human space flight capabilities by launching crew of 5 to the

£y

(2) A and B only
(4) A, CandD only

- =
= -

ducation for the Election

Earth’s orbit at 500 kilometers.
Choose the correct answer : 1t
(1) B and C only (2) A, B and C only
(3) B and D only o (4) A and B only

86. Arrange the following sectors/items in ascending order based on proposed allocations (in % crores) to
these sectors/items in Telangana State vote on account budget for the financial year 2024 — 25

presented to the State Legislature on 10th February, 2024 :

A. SC Welfare B. Capital Expenditure
C. Education D. Medical agﬂ Health
Choose the correct order :
1) D.C,AB 2) A B,D,C (3) B,A,C, D?q 4) D,A,C,B
87. Which of the following two countries conducted a Joint Military Exercise “SADA TANSEEQ” during
January — February 2024 ? P
(1) India — Afghanistan (2) Iran - Kagakhstan
(3) Pakistan — Tanzania (4) India — Saudi Arabia

g8. Arrange the following States in descending order based on percentage of Geographical Area under
Recorded Forest Area (RFA) in 2021 as per the India — State of Forest Report — 2021 published by

Forest Survey of India :

A. Nagaland B. Sikkim C. Mizoram D. Arunachal Pradesh
Choose the correct order: -
(1) B,A,D,C (2) A,B,D,C (3) D,B,AC (4) B,D,A,C

o
: R (28) g%g

TES.T 224



8065 B30I BEsHes o708 020800 $a Sores me DB Yo :

o508 Db (805 Do
A (DB 2GS . 280R
B. Q00T @w I 23708
C. 8850 Saol III. esB)38
D. 2. 298 IV. 35S
V. Qredoh
SIS INESINV N To IR T TRMSPN VN ()

(1) A-V; B-I, C-IV; D-II {) (2) A-1IV; B-II; C-lII; D-V

(3) A-III; B-V; C-II; D-I o (4 AL B-V; C-I; D-IV
@) -5 HO0D VIS 1808 s s0eS” A 2.9 1
A. A ST-GIO DJ-ROBS ROES D GITBFANO.

B. 58 2000 $S'008 H638 H00S° 88) o5 BB 30 S5 e s
C. &I BIAcHo™ DRDO 9dSyE0 THod. @50 ST Hoob.

D. 28 HDHS - A0BS erPerand 8-J0(¢8 LS WS") 028 (MDRV) &IBrAN0E.
QDB DITETS0 DOTHETRIAW

(1) A, B OO C Sredad (2) A DO B (v

(3) A DOAW C Sr|had (4) A, C08a5w D Jrevsh

©525 2023 ¢ 2rded DR YEO D00 LK BITIT OGN DS HOO0D) IS8 27B%H o0 &K
(National Icon) 558 QAHDODOA ?

(1) 0F 376 5| (2) H0%S B8

(3) Do oy (4) &I b

B8 QIS HBO0D (808 AD)S TEgeeS 2:33) 7
A. LVM-3 O8¢5 K0S a5rd 008 ' avirs T/
B. 28 30 &7, 155 & o005 (ETradE GFeks £O8 50008,

o
C. BIS (5 S7¢rssS (Crew Module) &AW @5&’1} QPSS (Service Module) $OAS e8)erd SrErsO
(Orbital Module) &0e00E. o

D. a8 Zrad TGSy 500 S WS §3.565° DEIBED 22008 DSF VLB 70" SPG5 @OBBE IS
N OUISINVEPS Tn o RIS VeTnY

QBN DTG0 DOTDEREW :
(1) B HBAw C S5(ehadd

(2) A, BDBOW C S5°(eb5D
(3) B OO D Ariehad (4) A BAW B Ar(edad

10 D238, 2024 o8 FOSITE  HBI0OS  Beorsm TR SO-88 ©Fos 23S
2024 - 25 @8R5 J0SS)TA8 e 1808 Sorren/eorerdy (DSFE0DS Teronode (T Foc) ecdomr
8od Borren/@oFercd BT (5006 €3¢0 3650

A RAETED Soered HOT A0

C. &g

D0 N 563070 OTDE 063D :

(1) D,C,A,B (2) A,B,D,C

&: 1508 o) DO BFeN 233950 — D238 2024
(1) 20805 - S8IIPS
(3) ST - 02O

T0R D05 6D 0BT (DTHO0DS
2021 & STFBS @D (050 (RFA) (8o &
OIE T 15006 @005 Yol :

A. Tmreroh B. 2§;0

QAB X (56357 OTDET W :

(1) B,A,D,C (2) A,B,D,C

TES.T 224 R

B. dQ0rodd H5oN0
0 D. 3308050 esb50

() (3 B,AC,D (4) D,A,C,B
eS‘E@Pw $ID" T DO DAE DTEN0 DS LIFOT O ?
m

(2) QU - §28P°®
o [ R0BCT - D 03D

& aoécﬁj‘—ﬁgﬁ& e O 09 -2021 |Hsdo
&) 2FADE (rodo InGo 7)) a8 (§0S DS T arered

D. &&rdS (D85

(31 D,B.A C (4) B,D A C

(29)



_ n
89. In which country was the Confere (3)

90.

91.

92.

93.

95.

ce of Parties COP.og, .o |
(4) Saudi Arabia

(1) Glasgow, UK (2) Egypt Australia

r the year 2024

Who among the following from Telangana State Was congerreq Padma Shri award fo

P
in the field of Literature and Education ! .
(1) Omprakash Sharma (2) Harish Nayak (3) Kethyyath Somlal| (4) Uma Mahes

Which country hosted the gk International Mﬂ{l

Eime E;L"'i‘-l]l!‘ii:;;r Conference 2023 ?

(1) Norway (2) Philippines ( -QS ) Singapore (4) Australia |
Match the following Sahitya Akademi awarde[égl In poetry for the year 2023 with the language 11
which they were conferred the award : )
Name of the awardee Language
A. Vijay Verma I. S_anskrit
B. Arun Ranjan Mishra II. Kashmiri
C. Manshoor Banihali I1I. Gujarati
D. Vinod Joshi IV. Dogn
Choose the correct answer :
(1) A-II; B-III; C-I; D-IV (2) A-1V; B-II; C-III; D-I
(3) A-I; B-IV; C-III; D-II (4) A-IV; B-I; C-II; D-II1
Who amongst the following were appointed as Election Commissioners of India in March 2024 ?
A. Rajiv Kumar B. Gyanesh Kumar
C. Sukhbir Singh Sandhu D. Arun Kumar Goel
Choose the correct answer : ]
(1) A, C and D only ( 12) B, CandD only
(3) B and C only . ¢#¥4) A and Conly
Which of the following statements related to Adj$ya-L1 is/are true ?

A. The orbit of Aditya-L1 is located roughly 15tfhillion kilometers away from the Earth.
B. The mission will help us in understanding Coronal Mass Ejections.
Choose the correct answer :

(1) B only (2) A only
(3) Neither A nor B (4) BothAandB |

Which of the following symmetry is not found in animals ?
(1) Bilateral symmetry (2) Radial symmetry (3) Circular symmetry [(4) Asymmetry

Match the following satellites with the year of their launching :

Satellite Year of Launching
A. Bhaskara-IlI I 1988 (]
B. GSAT-10 II. 1981 )
C. IRS-1A I11. 1990 6
D. INSAT-1D IV. 2011 n
V. 2012 &
Choose the correct answer : =
(1) A-IL; B-V; C-I; D-III (2) A-IV; B-V; C-II; D-I
(3) A-V; B-II; C-IV; D-I (4) AL B-IIL C-I; D-IV

TES.T 224 . (30) T




SSIBS) 8D FPO COP-26 & ToeS' 28A0a 2
(1) 8P, G508 (2) &2

S0 U*L%I"EO;@, TOBS & (808 3OS DIB 32
e, D528 TS S80DOA ?

(1) 05 46 (2) 38R TPaHE (8) Be»IS 38 erdS

855 @OSTBAD SrETS DEr6eS 5%9)85) 2023 2 BioeS® 26R08 ?

(4) &3 458 &,

(1) 0 (2) DAYV [ [® 0N E 4) e RO
DORIHOS” Jared g @SB 2023 R leV miréftaf& 08 @D SO 2o 268 HE 150
@D (e I3 ‘

A, QA Y | IS Te PSP Y Yo'

B. &% oS F* II. $2:8

C. Ar)YB AT 1. H2oed

D. DS A Iv. &

BN AAFTTRO QOTDTRDAD :

(1) A-II; B-III; C-I: D-IV (2) A-IV; B-II; C-1II; D-I

(3) A-I; B-IV; C-III; D-II (4)  A-IV; B-I; C-II; D-III

S8 2024 S 1808 TS’ IS DOES ée‘.)mfé‘i‘;')g &35 OB I AOHAOIDFE) ?

F—*\‘.

A T3S 03¢

C. DB VO J0&

 B. TJ2 0306
D. oNH H05r8 AFHS

["“’.

Q0 NATTTNO0 DOTRTRII
(D A, C DO D Sreh
(3) B B C SredH

{.f*.}

(2) B, C B0 D Sr(edad
(4) A OO C S(edad

S8OS-L1 50 002050 (808 aD YN TS O 20 ?
A sOSEL1 BE) 885 85 HOB T T 15 DOHS ST NEHD Srs0es Hod.

S TO NN AN To IR To TR VSN VNV

(1) B Sread (2) A Srehad

(3) A SO B Bodkyr s°¢N (4) A HBAS» B BORY

& (00 TBS J FPS0 BoSYOS® EIVOE?

(1) BsEEAI0 (2) 88 A0 () (8) SyTSE S0 | (@) @QS0

o
&: (808 SIS0 a¢3Q (DTrAODS éoﬁgwug 238D

B. & DAS E8IS 3509 DBE X)) (Coronal Mass Ejections) o @80 TeOEIETAE &ITr Heedod.

TES.T 224

oI a5 (BETAODRS SDeSe8)00
A 270811 I. 1988
B. 227°¢-10 II. 1981
C. abln-1A III. 1990
D. ad73&-1D IV. 2011
V. 2012
DB DITE0 DOTHT VAW :
(1) A-II; B-V; C-I; D-III (2) A-IV; B-V; C-II; D-I
} (3) A-V; B-1I; C-IV; D-I (4) A-II; B-IIL; C-I; D-IV
R (31)

2%



g yaceing, Was dayaloned by :
97 C in, India’s indj-genous cO *19 e -
7 ovaxin, indail

I. Bharat Biotech B td

II. Serum Institute Oflndla . Astrazeﬁeca ! i

a »
[II. Pharmacy Council of Iflfh T (ICMR) ~ National Institute of Virology (NIV)
IV. Indian Council of Medical kese 5

Choose the correct answer : A ()D IT and IV

(1) IT and 111 (o) Tand IV R o
llowing statements about Iﬂd.m s Pharmaceutical Sector :

(4) TandIII

98. Consider the fo
rtion (A) :
ﬁ“" Bw"' au of Pharma PSUs of India (BPPI) educates the public about the usage of the .Jaj
e Bure 28
Aushadhi generic medicines.

al
{.

Reason (R) :
The Government of India has set a. t
Kendras to 10,000 by March, 2024.

arget to increase the number of Pradhan Mantri Janaushadhi

Choose the correct answer : I
(1) Both (A) and (R) are true and (R) 1s the correct EXplanatmn of (A).

(2) (A)is true, but (R) is false. | & el
(3) Both (A) and (R) are true, but (R) is not the cortrect explanation of (A).

LES

(4) (A)is false, but (R) is true. e

99. Jal Jeevan Mission is a Government of India programme. Which of the following statements are

correct about Jal Jeevan Mission ?
A. ‘Har Ghar Jal’ initiative was launched in 2019.

B. Goa became the first certified Har Ghar Jal State in August 2022.
C. Har Ghar Jal initiative is set to provide all rural households with safe drinking water through

taps by 2025.
D. More than 73:7% households are reported to have tap water supply as on 30.01.2024.

Choose the correct answer : {7

(1) A, B and C only (2)) A and B only

(3) A, C and D only (4;5_’1 A, B and D only
Gacad

100. Consider the following statements related to India‘éj}m ational Science Day :

A. Itis celebrated every year on February 28th,
B. It commemorates the day of the announcement of the discovery of the Raman Effect.

C. The official theme for the year 2024 was “Global Science for Global Wellbeing”.
D. The official theme for the year 2024 was “Indigenous Technologies for Viksit Bharat”.

Which of the above statements are correct ?

(1) A, B and D only (2) B, C and D only
(3) A, Cand D only (4) A and C only
TES.T 224 R (32) A




f'-:

850 (Covaxin) @3 838 COVID-19 €357 @518 TR 28BS D0 :
I. 2r0S 23378 (Bharat Biotech)

II 6D 3D )L &D R0ACST | D3 OWHE

11 5 TS 8D 20808 - e 25

IV. 278ed 355 HBTBS Jrerk QO¢ (Indian Council of Medical Research (ICMR)) — 27&05) ST 08 How
(National Institute of Virology (NTV))

TR RNePTTV0 DOTDE A :
(1) II 8w 111 (2) THOAW IV (3) 11 8w IV

(4) Tsn8a%w III

2rOSTE TAE SoHEINAE SODOHOD & (8od .;J";m $035) Koo
S98e (A) :

2rESTE 2riS @P V07 VIR Awen (PSUq} (BPPI) 238 THH 2508 Tagre DATrHo H80D (Heedo
©IMTS $O HYWod. .

'
ty" |

S*C0 (R): ()

2024 Sr8) 38 (DS NOE B TAG BoIP® DO 10,000 5 DOTOR 278 (D200 o jorr
REPFOA.

QB NS0 JOTHT AW

(1) (A) B (R) BOGT D230 SHOAW (R) @IE (A0 DB DIBea.
(2) (A) 20, SR (R) 2330 S°CD.

(3) (A) HOA (R) BOKT D2z, 5°R (R) @A (A)50 OB D3B8 5°¢.

(4) (A) QAW 52, 522 (R) d2335m.

2O BIS WAS 23888 D20 § SEEN0. 2O éaﬁé DAS DBOTT, (808 FsDIOS” DD HOTID ?
A. 2019 S 5B 0B 2S5 (DD ADes) 0 rSoDotdaGod.
B. o 2022 S Incdes 0 $5yDE00wG 6 6 a6 oo Ko

C. 2025 SSH (D (Maoed fHyrrerd)0eds més,é % DS HoDB Ferawe) &°50° HODSTAWEZ T8
DB =S S&JEDOoBDR0H.

D. 30.01.2024 %38 737% 50T @O0 Ky OSraSrOf) &v'o» r30° A @oc‘ﬁoé)oda
AIOOT.

RO N RRATETTRO0 )OTIS AW :
(1) A, B 088w C S (2) A OO B Sr(edsd
(3) A, C OO D Sr|ehad | (4) A, B AW D Sr(edd

2rESTH 27B0H V) OSS )8 H020B0DS DIBEaeD B0 :
1D DOSEB B0 DS 28 &5 BOD BHYTH0L.

26 TS HOS B B8 (HES FSE BSo.

2024 50556850 T°¢3 HSOE H |3 ;30::3 L%o‘i)nng §%00 |DNDOTS T NO™.

o, >

D. 2024 H055)50 77¢3 @HTOE Hod ' m’&@_ g;éé 00 BI0H 0S¥ SN
2 TS HOTSD D ? i
(1) A, B SB8050 D (e (2) B, C W D Sr|edad
(3) A, C 556050 D S(ebadd (4) A SHBAW C Srv|edad
)
S.T 224 [R] (33) :



101.

102.

103.

104.

105.

24
TES.T 2 R -

. :e"“ o}lﬁgl 0;; on board for ‘_studmng surface geolog,
Chandrayaan-2 i, S 2 One of the EXPBHmEH? payloads is CLASY

composition and LSTAEET Uctve X
i ment= = . rge A ﬁS&BS 4 "ay Spectrometer.

C. XRF technique Wi

D. CLASS is an 1maglng | o f

Choose the answer : i 0 (2) AandBonly
(1) B and C only kﬂgj (4) Cand D gnly

/155 ".i' i
." ‘.tr 11 J"}'l

(3) A and D only ' N 't %
m&n il

Eﬂnzlderﬁhgogiwagls:jﬁmnm@m P. G Mahalamb‘s is greatly popular for introducing new |

well-kno
B. Eeﬁid:dogzil:};asga geogra best know;\:ﬁor his development of the Saha equation, used to

e et

desinbe physical conditions m € u?aPhi C
Which of the above statements is/e '_,,1‘-1?80_1'« @ {.} N
(1) Bonly |;,‘}, it L;i only
St Both A and B

(3) Neither A nor B | e
Consider the following programmes;y the

and Technology : N
A. Strengthening, Upscaling and I\I'_ siring Local Innovations for Livelihood -

B. Technology Interventions for Dzs, | "l{e‘%ﬂ and Elderly
C. Tribal Science Plan : 1 _!. i

D. Innovation in Science Pursuit for-
Which of the above are correct 7 ' "'
(1) C and D only

(3) B,Cand D only

Depabl’%ment of Science & Technology to support Science

(2) A, BandD only
(4) A, B and C only

I Polar Satellite Lawnch Vehtcla (PSi.V-XL) .

IV. Augmented Satellite Launch Vehml& (ASLV)
Choose the correct answer ;

(1) L, I0L IV, TI (2) L1V, IIL 1T (3) 1,101, 1L, IV (4) I,1II, IO, IV
Match the following Acts/Rules in Ind1a with respect to their year of passing :
. Act/Rule in India Year of passing
A. Forest (Conservation) Aet I. 2010
B. National Green Tribunal Act II. 2016
C. Wild Life (Protection) Act [11. 2002
D. I;fzardnus Wastes (Mﬂnage_ment, Hendling and Iv. 1972
ansboundary Movement) Firgt Amendment Rules
E. Biological Diversity Act e V. 1980
(-“') vl. 2020
Choose the correct answer :
(1) ALy B-IV; C-V; D-III, BJ1.. m) A-V: B-I; C-IV; D-III, E-VI
(3) A-V; B-I; C-IV; D-II, E-Iij g%) A-VI; B-V; C-IV; D-II, E-III

i
O




R ,
101. g;@g? Q3ws), ﬁo)@é@ SriE)TIRV) @SN30 Tov@IE  HoFraS (composition) 8%y
éfsaaozég*(e;%ﬁpg?d ?oé@é:ssﬁsﬁoda‘ag QWO (DATTH HOZTTen EDAS Surerercdsy DOAATS-2
Q0 000, ®ONS” SVPFA 2.8 |DBridn 50 (CLASS). 8o '
DOREN (statements) OB S 7 : o RGN e e

A. 50 (CLASS) @88 SOIAArS-2 ¢ ey 2,& D 1B eHEede X886 500 Srmd.

B. D0 X-888 (DB (XRF) SRDEFV), TR (CLASS) Sendyod.

C. Mg, Al Si, Ca, Ti SuSen i e OGS SresTeN XRF @& ro8as HB25S @ 50 H80SS )

D. SR (CLASS) 9003 2, (3 A SPNEY ATDS . J :

R"TI0 DOTDF DA

(1) B QOO € Sr(edad

(3) A DO D SAresdh

& (508 I DEOD BHVoI0A

Al VR DIVDY IS, @
VARG A KeToE FNIS, b

B. JDTE v IHRE T o B VBYHOD JSBOBER), GIWrA0T F3r HHESme
©DIYOS DV ToAS T HYE 7Y 3. 14

(2) A SO B S5(e83H
(4)  CDOAW D Sr(edad

‘"‘,
&3 (P2PGS $ON, S Srar HPerdd HBBaho Fahie 2.4

D TDFODSA QD HOTI ? o
(1) BIr&D (2) A (S
(3) A DO B Joyr 57 (4) A HOAW B Bodyr
1103 23S T ROH DO AOTRE AFS D20, FTNAH HBAKH AroTRE AFTVS QODOHONS & S0d
SO0 H8HFoN0H

A DOJOVA0, &) & PO BB B0 HOAM BISFAT DV DN S H83 ABGE0
B. JZT0HON, Syedy J08BE IS S50
C. NOBS TS DTV

D. (DOTEE DOTUIOT 70D ©HHBO0 8DA,0005%0

D FES’ A ABXD 2
(1) C O D Sredad O (2 A BOOAH D Sredad
(3) B, C O D S ~ (4) A, B8O C AT

104, L TS © (500, ¢S e erdo @c;‘éo@(ééuz,oﬁ O DFVY) B @D YW
F L &30S (DOTE SE0 (SLV-3) s

II. 2BFVOERV SIS DTN TS0 (GéﬁV}

, III. &ferd &I (D[ 73S0 (PSLV-XL)

IV, & DOBE @IS (DT FErSO (ASLY)

. R8N RATPETR0 DOTDT DS :
(1) ILIOL IV, 11 (2) I, IV, II,II (3) I I IL IV 4) I, IL III, IV
. 806 BEre/QADATON 3 SJTAODN DOXBIBO0S 2365 DB I
2rdes TF0eS R 380/ DaDD0 SITBO0IS 0S8 )50
A 8D (D888 ) SO I. 2010
B. 2730 (AS (e3205565 B9&)o I 2016
C. S8 |areave (B(Be) S&o III. 2002
D. (DSFGEGRS S5T7e0 (DS 3e7ed, DESer05so Bk IV, 1972
HOLFEDPED C7e8 DB L20IB0) R0CES DB L&
E. 25 3D6s S80 -~ V. 1980
(f VI. 2020
A0S RATFCTO0 2)OTDT I : /)

(1) A-I; B-IV; C-V; D-11I, E-II (2) A-V; B-I; C-IV; D-I11, E-VI
- = § (4) A-VI; B-V; C-IV; D-11, E-11I

TES.T 224 [R] e




106.

107.

108.

109.

110.

111.

112.

TES.T 224 R { 36)

h (:e n I 10'31 ar to P te Artlﬁﬂlﬂl Iﬂt&lh ence i Inds

bE}’Dﬂd ? : (2) AIQBh&I&t
Lo @ b

1 3 W
Arr thz B following Nobel Laureates in the hronological order of their receiving th

ange .
i B. Subrah Chandrasekhar
ishnan manyan
g‘ ge"ilr}kﬂaatrmmannan Raniisi - D. Har Gobind Khorana
rder *

ﬁl;nzseBthS cgrret:t 0 (;‘;‘ CDBE (3) A,C,D,B 4) C,B,A,D
Consider the following statements regar ding'the Indian lunar lander that successfully touched down

on the lunar surface : O

A Its name was Chandrayaan-2. O '
B. It was launched from the Satish Dhawan 'Spachentre on 140 July, 2023.

C. A lunar touchdown occurred mﬁ?—23’d August, %'%3 just after 6:00 PM IST.

Which of the above statements 18/ af@'-'@HECt ? %5}

(1) B and C only @ A and C only

(3) Conly i (4) A and B only

Raman Research Institute is 1ocated'-;"-at.. X , India and was founded

respectively :
(1) Bengaluru, Vikram Sarabhai
(3) Trivandrum, Vikram Sarabhai

by Y in 1948. X and Y are

2) Bengaluru, C.V. Raman
(4) Trivandrum, C.V. Raman

Match the following diseases with their carrier type :
Disease Carrier type
A. Cholera I. Air-borne f
B. Filaria II. Food-borne
C. Tuberculosis II1. Vector-borne )
IV. Water-borne O
Choose the correct answer : B
(1) A-IV; B-III; C-I | 2} A-IV; B-I; C-1I1
(3) A-II; B-IV; C-III G(g A-11; B-IV; C-1

Identify the correct statement(s) among the following :
A. The Indian Ministry of External Affairs described the first Pokhran test as a peaceful nuclear

explosion.
B. This nuclear test was code-named ‘Smiling Buddha'.

Choose the correct answer :

(1) B only (2) A only

(3) Neither A nor B (4) Both A and B

Match the following vitamin deficiencies with their associated health problems :
Vitamin deficiency Health problem

A. Vitamin A I. Beriberi ]

B. Vitamin Bl II. Night blindness ()

C. Vitamin D ITI. Scurvy @)

D. Vitamin C IV. Rickets

I 5
ok
(2) A-1I; B-I, C-III; D-IV
(4) A-1I; B-I; C-IV; D-III

Choose the correct answer ;
(1) A-I; B-1II; C-II; D-IV
(3) A-III; B-II; C-I; D-IV

EI%E-J
wim




106. 2r3STI0S HBAN TV FY B ek 3

g 183 Jarotd @8 130D 05 2B S 8018 6550
(1) INDIAai. (2) Al4Bharat
(3) VIKASai (4) BHIMai
107. & (8080 SBS |Hareder DD T 2TV roggﬁoacé SOISATOI B0 0.5 108
A J05ETNS TS8R B. m@amgmgé RTeIlaT PN
C. V.S D. 2786 FDo& 5o
QB FEATQY DOHE D& : ||
(1) A,B,D,C (2) C,D.B,A (3) A, C, D, B (4) C,B,A,D
108. Z)aofn&‘)oéor? 8 DO roBdd DOV &H0BEr) EEE)8 ROWOHONS 1808 T 5wiered)
38O 0L -

A TR D DoArS-2
B. 1423, 2023 §2° 00 TS S3°% 80150 od e0d (AIrHotsaGob,
C. 23 &R, 2023 &2 ROAAF® STOTI0 (D5°G0 AOHOSO 6:00 KoererEy ®)SrS rrd So|ha)),

=&80d.
D TEDIONS'Q AA/A HOBID ?
(1) B O C e (2) A B0 C Sredad
(8) C v (4) A HOAW B S3(edad
109. OSSR X S @) U708 AN DoV 1948 & Y FR0e8. X 0005 Y € SEQm :
(1) DoNtr®, JED Aorara® 2) . BORTTD, 0.9. T
3) | 8IJ0o0, BN yoreradd (4)( (€3301¢80, 1.D. T°H®
110. |1S0O TN ¢S N0 FEWE HOFFOYOA . &3
TS TyDoedh Jgo ]
A SooT 1. - 5o s
v B. 2BdAr 1. e30-r o =2
' C. SHazd L. DSAT-T°IDS oo
V. 8- go°
TN QATTTR0 )OTVE I :
(1) A-IV; B-III; C-I (2) A-IV; B-I; C-III
(3) A-II; B-IV; C-III (4) A-II; B-IV; C-1

& 1808 T 508 DB DrES0 HBOHOA :
A TGS HFES DT 28 (D708 Sriand DHendhr ards TR Si3TFore oD TR

hlelelnlola}
B. & 3ri8ohb HO8E B 0B AW ;}ggm@oﬁ 205"
DN QAT TR0 OTT A :
(1) B S3(edad (2) LA S5
(3) A HBa% B Bo&yr 5°¢H (4) “A 0O B Co&Y
E08 DODS S'TON ¢3S ©HDOOODAD @5‘555;1;33;05@3 3¢5 [ONOA
DEDS S0 8575 DaDSg P
A DN I. 23628
B. & D1 1. BH%es
C. DS B L. 5,88
D. e N IV. 88&) (5088 s¢) J°5Q)
DB LT 0 DO AW
(1) A-1; B-III; C-II; D-IV (2) A-1I; B-I: C-I1I; D-1V
(3) A-I1l; B-1I; C-I; D-IV (4) A-II; B-1; C-IV; D-111
il &
5.T 224 [R] (37) %




113. :‘:115 core loadmgi b f '. E: ii Kaiga, il
[(1) Kalpakkam, ami | R Narora, Uttar Pradesh
(3) Tarapur, W ect fic ang not exclusively a plant hormone ?
114. Which of the follo Y 3 Cytowinin (4) Gibberellin
(1) Juvenile |
115. Yellow Revolution is related to: ‘. : (2) Jute fiber produection
b Eg’g oy, (4) Poultry and meat production
(3) Oilseed production] el .
116. Which one of the following 15 AL 8 energy storage system type for use in electric [
vehicles ? fh 1 4 @ Leadoas ' [
(1) Lithium-ion batteries | acid batteries
(3) Ultracapacitors - (4) Nickel-metal hydride batteries
117. According to India State of Fo t (ISFR) 2021, the percentage of the country’s geographic
area covered by forests is approxi m
(1) 21-7% (2) . (3) 256% (4) 23:1%
118. In the following, there are two | ns on each side of : :. The first two are related to each other by
following a certain rule. By follc the same analogy, the 4™ term which follows the same rule
with the 37 term from the Opt:lon 1s o
2,3,5): (5,7, 11): : (11,18, 17):2
(1) (17,19, 21) (2) (17%21 2:>,)€:3 (3) (17, 23, 29) (4) (17,19, 23)
119. The following are dlﬁ‘erent pomtuo u_g* the same dice, whose faces are numbered from 1 through 6.

120.

224
TES.T D (38)

11213 1 1
(1) —
4 (3) 4 (4) 3
5] 2 ]3] 5
6 5 4 6[2

Which of the following statement(s) i i§/are true ?
I. The year 2024 has 53 Mondays C‘

II. The year 2027 has 53 Saturdays.

IIL. The year 2028 ends with S&‘i:r

Choose the correct answer.

w.
(1) Only II is true. (2) Only Lis true.
(3) Only I and II are true. 4) AILLII and III are true.
ok
e




118, 4 30, 2024 T, 278 B0 TE), SHS0SDS 539 1H

1 4 , 2 2 %8 BasrEs ed

' DT @08 )50, A 2P0 AS (DB s : : W Pl B & e
(D) 305, S (2) 3, Som) &%

(3) Y0, HFor R 4) SO, 486 | HT5

1808 ¢365° O 1D S §57D8 H02080DSE LB DBgEomr Jngyer TS sy ?

(1) 2IJS (2) 83 3) EES (4) AZ3)0S
¢ DAY VTVE H00HODIO : &
(1) DD cred & (02) 280D 38 eres )&
(3) S&rS foze ered)® if{{(]fl) & (Poultry) 08050 Sr0H0 erés D
. 1808 S D 35N 38 deodg VNS (energy storage system), LREA8 eo|firradr el 58 e
AITE DRSS ? 2
(1) BD0-0srS 2rsesd 2) BE-OTHE arierd
(3) ®EFrIIVLE) 4) JSS-DeOS I BE arserd

17. 2°0ed T3 08D PO SO (India State of Forest Report, (ISFR)) 2021 D580, TFo BwE), TADE
DRSNS’ @SBHeN LIFEHT BI80D G0 TS0 Dens

(1) 21-7% (2) 191% (3) 256% (4) 231%

BHYN 11 § FWSHO Botd HoFen BILHGEOW. INGE3 Both Horen 2.8 D83 ACHSTV) 3y

2ETVE HOTDITRVS HoVOGTR) ) Gy ow. ®F FErHS §€) G0y, 33 330 & oF JoHSrd)
0T 435 Do ! 03

2, 3,8):(6,7,11) +: (11,18, 1) : ? ®
@ 7,19, 21) (2) (17, 21, 23) A3) (17, 23, 29) 4) (17, 19, 23)

::f' B. 1 DOA 6 ®OSOS JrdoT Swarey Ke> 28 ;3'635%1353, 2] 2508060 1808 RS 520B 5.

CEEE

&2 DED DI, (808 a7¢365° BAM EAHNOE ?

|28 B 1 1
(1) 4 2 [4]1 (3 (3) 4 (4) 3
5 6 2136 5
6 5 ¢ 5 4|62
)
120. (806 ¢3S’ (DSIREAW (€) DO/ D230 ? h
L 2024 50551806 53 FddarTren §0). E;_J
A I 2027 505506 53 3QIT e 6. f3
L 2028 505350 30 SnHRod.
L DB DITETOED el Tedradw :
L (1) 1I 5753 D220. - (2) 13 deso.
(3) 1508050 IT Sr(eb3H Dz0. 4) L 110805 I e @d) dadh.

s o E E
b 1 E (39) %%



@E':Eglzhli E), 29 students passed in Hindi (H), 25 stud .
passed 11 © °0 1, 5 gy gents passed in H and T; and 6 spyqer
¢ gtudents WO Dasseq in oo subject alone was equal, ang

, I,_.zl;_ 1 HJ t-h& examg irl all the three SUbjECtS-
ri

UdEntE
W a8 15

L 1 of 70 stndente ot

for each subject. ARV = oy the LISV =0

Match the follow1 L]EtA Wlﬂ;-fr el o
' | L 9

2 II. 12

= III. 16

- V. 34

5 V. 4

Choose the correct answer .
(1) A-II; B-III; C-IV; D-V
(3) A-1IV; B-I; C¢-V; D-II

122. In the following graph, the ratio ut 1€
the period of time 2000 — 2005 is given..

(2) A-IV; B.Ir; C-IIL; D-I
(4) AL B-III; C-IV; D-V

16— oML
14 -’
~
.
4 12 Fy
3 ]
1.0 % |
= )
0.8 o
0.6 0.6

L 1 1 '|_£-'-:-%l i 1
2000 2001 2002 2003 2004 2005
Year y ' |
If the imports in 2002 were vﬁ:fi’.led at T 250 crores, and the value of total exports in the years 2002
and 2003 together was?ﬁoocfo es, then the imports in 2003 were (in T crores) : “

(1) 500 | (2) 525
(3) 420 X e b ~{(4) 450

123. A club has 2780 members b'élbn'ging o Gus_:_i)rﬂfEEEionsl whose details are shown in the following

table : i1 £)
Profession | Number of ' Ratio between I, ;}
members | males and females z
Duct:ors 750 3.9
Engineers 990 101
| Lawyers 270 | 5: 4
Professors 770 i' T
What is the difference between the number of male and female members ?
(1) 888 (2) 880 (3) 884 (4) 882
@4E
TES.T 224 [R] (40) i



121,

2.8 DOYS, 27 206 ey 2ofd (B) & adhen watrid, 29 508 ATiBen rod H) &
a@@c}cﬁrsm. 26 OO drsen denid

(T) & GBBOATI®, 10 508 DTsHen E S865n H oo 8
OO H D80 T oS B 6 0O E SHBak) T erest aé}@@mgd}. DS 2.5 HBHS* e YAV

SPSD SBHBITO DODE DA HBPPL DAFSOMT 15 ™ GO, Q) (D) IO HBEen oS

S0 ATrsihe Hows 70.
808 e A » 2der B & 2edHSeaw |

arder A ardes B
A, T OO H oS asdhs, E & aden s darghe doms 1 9
B. S0 SFPPSET 200G 9008 dOT§He o i 12
C. A R‘@@g‘f QA &@Q}@é Do HoRg. | 1. 16
: D. Do HPPS A8 aAHBS s boms v, 34
V. 4

NI DATHTR) Q0TS l.:]- )
(1) A-II; B-1II; C-IV: D-V

3) A-IV; B-I; C-V: D-1I

(2)
(4)
DDDBINIO AAYHMEN RS SDASD.

AHDS, JAHDeho AHHS
1.6

14

12

853

1.0

- |

SEb

/

A-IV; B-I; C-I1I; D-I
A-I: B-1II; C-IV; D-V

1808 JOANS, HoSSs SSven 2000 - 2006 S0, 8 FoVR TwE)y OMDSB Dews HBcsw

08

i

ae

0.6

...
i

]
lJ
i

LI

<

(1) 500
(3) 420

2000 2001 2002 2003 2004 2005

EUTOINTURTO NS

o}

(2)

D055 3550 2002 ° AHSE Ve T 250 §EY, HB5W f‘bo&’)e;jsz){im-:m 2002 S8 2003 & JwSw
DD Dewsd T 500 S8 owd, 2003 S B Dewsd (X FLS) :

525

(4)

450

23, DDJ) S9WOB ToOS 2780 HOO JHgOd EOBS 28 L20)S’ J2Hge dSorew 180 HE3ES
02

(1) 888

-.'I "

ES.T 224

(2) 880

[R]

| oS)E3 Sehse Sos HEDaDEV, DT D3)¢3
|5 750 \J 8:2
[m0z5% 990 C ) 4:1

- '].ng@ 270 Il 5:4

S [E g teled 770 - 4:3

P r&do::)m L8050 LT HZHLO DOPLE 2350 JOh ?

(3)

884 (4) 882

(41)



3 r‘ ferent Ve
i _,,’ “Betables in a shop.

124, The following

......

Pumpkins

Consider the following sta o To—

A. Sum of sales of pumpkins and Art qual to that of cabbage.
cabbage

B. People are buying beans mor
C. Potatoes are the best-selling
D. Potatoes and beans co'ﬂectwe

ve :. ota Tea in the shop,

1: fl t for half of the total sales.
;1-'f- ')

Which of the above stabemsnts | ,-.‘? 2
(1) CandDonly = | % (2) A B and C only
(8) A and D only ; . ,T,.J O (4) A, CandD only

125. In the followmg table, the numbers -J.'

first and second colmns mth"ad .:“H te relatﬂ] Find the suitable number in place of ?’.
2209 &2
3249 &
4489

(1) 1140 (3) 3016 (4) 2918

e Lﬂ.
126. In a degree programme_;of_ a col[ %;u e number of students who opted for only Physics is twice the

number of students who‘i:pted f : C _emlstry The number of students who opted only for Chemistry
is twice the number o -'qguden‘ s who opted for both Physics and Chemistry. Then the number of

students who opted for ﬁ,{:ﬂ how many times the number of students who opted for both

Physics and Chemistry? =
(1) 7 @08 (0 @3 4) 6
127. Consider the foﬂowing_a;dﬁ"gv'on- - (1::;

I A+B-C<7 1. 2A-3B<4C
(1) Only Il is correct, . (2) Only I'is correct.
(3) Neither I nor I is correct, (4) Both I and II are correct.

TES.T 224 [R] (42)



()

Xk AN (Drumsticks) )
| 1808 DSV HORBODOA - l‘ J

DA DA SN @570 IS0 552528 e0:80)5H” Hisrso.

5758328 S) QB0 ST DS D (D2en Focnar) &

& QTR0 @) 035N D80S 950206505 esenieSes,

BTG HOA AT ) IS0 s’ H0 e OB dary o,

D TIRIOS” A IBID ?

(1) C DO D Sredh (2) A, B DB C Sre85%
(3) A OAW D ImesH (4) A, C 805w D (e

125. 800 IS, JrE Jeny IBVSD Hopgen SS0H0OS Fnce Hocky Bos Qe SEISD
| DOPIOS’ 2.8 D IS OO £OR GT)oN. 7 Fgr"ec?}%é‘ DO DoW§ s 08,

B7a WP

2209 784 15 L]
3249 1444 19 ﬁ:’
4489 ? 13
(1) 1140 (2) 3254 3) 3016 4) 2918

26. 2.8 SVTOS 2.8 Qi F61S’ 7BE TR STSBTH J0THHR) FO HoDS EACHS TR JOTHES)
TP Do BH0D. BIPAHITIN0 ST JOTHHS) D3O J0DS 2T7RE O SAHS
RO BoBD JotHES) DI SowE BEOLD. 2TBE HBAKH SN T(Fen B0 oHES)
QT DO DOWIF 2TBE TR0 DOHER) DT O HOWS I BEY ?

(1) 7 (2) 5 (3) 3&_ (4) 6
_ .
127. (508 H05OTA) HBID00S : O)
' A B C 9 E’:'!
+ C A B 8 B <
B 2 9 2 ¢C )

| ALB 508050 C e 0 508 9 ©080SD S5 DDS) @080 BT,
806 E8S°D Both @18rSS$S DB/ HBID ?

F A+ B-C<7 II. 2A-3B<4C
(1) I S3edad OB, (2) 1MSD SBIB.
(3) 159805 11 & DB HBI6 5. (1) 158050 11 €0 BO> ST,

00

= 4 FEI (43)



128. Production and sale of est:lon
graph carefully an answer the qu

129.

130.

131.

132.

TES.T 224

certain brand of cars for six years is given in the following graph. Study the
ace

Production and Sales of C;-F"B

Number of cars
o22E88

2018 2019 2020 2021

Year
— PTOdUCtiﬂn 2;, emmme- ges

&
What is the difference between &s averages of production and sales over the given six
X (3) 380 (4) 400

(1) 420 @ 450 W
The angle between both the min and hours hands of a clock at 7:42 AM is x° and at 5:18 PM is

-year period ?

y°. Then the sum of x° and y° is : T ¢

(1) 30° 2 72°| © (3) 54° (4) 43°
Isy>x? ',!

Statements : ¥ :

I. x#0,xy>xq=>y<(q Lie II. y:tﬂ,;-«:%::l{x

Choose the right option among the fo]lovfl.dg

(1) Only II is sufficient to answer the quﬁlon

(2) Only I is sufficient to answer the question.

(3) Neither I nor II is sufficient to,ai_x__aweﬂhe question.

(4) Both I and 11 together are sufficient to answer the question.

In the following letter series, six blank spaces are given. By filling these blanks with appropriate
letters, the series becomes a series with definite pattern. Choose the right option that makes the

series with a definite pattern.
XY . N _ L YRV LY B Y

(L) 2, %, % 2,Z, X (2) £,X,X%,5, Y2 3) z,x,¥,Y¥7%X (4) X,Y,2,X,Y,2

Consider the following statements and conclusions. Identify the right conclusion(s), which follow(s’

the given statements. /-~
Statements : -J
I. Some employees are managers. ()

13

Conclusions :
P. All employees are engineering graduLtls

Q. All engineering graduates are mana@js.
R. Some employees are engineering graduates.

II. All managers are engineering graduates.

Choose the most suitable option :
(1) Only Rand P 2) Only R
(3) Only P (4) Only Pand Q
ORi0
i (44 ) gﬁﬁ




128. &G Jods yoreosS 2.8 12roh 58 &ed)ed HB0%
DS 00. BYr @) 27 BST SO DS (D%

58 & éf )& S8 % 5en

BAISOL ODOHODS DST°ered 12806 Bayrd)
250 237200, : Rapas

0 )
2018 2019 2020 2021 2022 2023
‘&)obt‘jhdo
b e nmons B €9s3025°eN)
B VOIBIT0 T SIS’ 578 @red 18 OGN @05 HHENE 50 ?
(1) 420 (2) 450 (3) 380 (4) 400

129. 2.8 AAAIRS0 & 7:42 e NI @ KO HBAM DNATED deNer s Fmo x° HBG 7. 5:18

QAT &8 BO Sy G 8’620 ¥°. x° HOOMW y° © Jnedo :

(1) 30° (2) 172° ~ (3) 54° (4) 43°
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U-are' Sitﬁng around a Ci"ffl.llar t-able- P’ Q Blld R are faﬂiﬂg th(—‘; Céntrea

133. Six persons P, Q, R, ST and the other three are fici,, the centre: Second to the left of P ig t},

of the table whereas the backs of left of U and opposit to P. If T and S are immediate neighboyyg

: : to the
one opposite to U. T18 second oo Eo

?f)Q(E' then who is sittilg opposl (3) P @ Q
1 A -
134. A notation representing the blood relationships between twq individuals A and B is given below :

A + B means A is the mother of B. )

A — B means A is the brother of B. E

A @ B means A is the father of B. . »

A & B means A is the sister of B. : i

A % B means A is the daughterof B. ) | _

For the given four individuals P, Q Bi andeS’ ?um ng the notation given above, which one of the
awof o7

following shows that P is the mother-in-

(1) P&Q+R@S (2) P-Q+R&S 3) P+Q-R@S (4) P+Q@R %S

135. Question : Is that year a leap year ‘f ':‘
I 1% January and 31° December of that year are not the same days of the week.

II. The year has 53 Sundays. N
Choose the right option among the following :
(1) II alone is sufficient to answer the question.
(2) 1 alone is sufficient to answer the question.
(3) Both I and II put together do not suffice to ans@wer the question.
(4) I and II together are sufficient to answer the qﬁgstinn

N F)

136. Let A=20%ofx+ 80% of y
and B=70%of x + 30% of y ot

; )

where x is greater than y. ' o3

If k% of (x — y) is (B — A), then what is the value of k ?

(1) 30 (2) 20 (3) 50 (4) 40

137. Consider the following statements :
I. Crime against women is lower in a state with higher literacy rate.

II. Higher literacy rate leads to better economy.
Read the statements carefully and choose the most suitable option among the following :
(1) II is the cause and I is its effect.

(2) 1is the cause and Il is its effect.

(3) Both I and II are independent effects of the same cause.

(4) Both I and II are effects of independent causes% "1

138. A statement is given below which is to be taken q.;;!true, followed by two assumptions. Decide which
of the given assumption(s) implicitly follow(s) fromthe statement.

Statement : &)
The pass percentage of the students of a college siéﬂiﬁcantly increased.
Assumptions :

I. Most of the students go for higher studies.

I1. Students studied more efficiently than before.

Choose the correct option :

(1) Only II isimplicit (2) Only I is implicit

(3) Neither I nor Ilis implicit (4) Both I and II are implicit

(=
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gl;ai:em&nf:f‘ and conclusions. Identify the right conclusion(s), which follow(s) '

189. Consider the following
the given statements:

Statement : A spﬁrtﬁare not what they v o6 once. India had significant victories i,
i

As it stands today, some ?n ]
Football and Hockey earlier.

Conclusions : O . |
I. Presently, we have no good pla}rﬁfﬂ of Foatbal\l and HﬂckEy in our country.
II. Indialost many Football and Hockey matcheE :n recent years,

Choose the correct option : _ i
| t'@) Only I

(1) Only IL. |

(3) Neither I nor II i “4) BothIand Il

140. Rahul starts walking from his L"use towards the playground which is 200 meters away in the
After walking 60 m, he turns left and walks 20 m. He then turns

direction of East from his house. ' __
right and walks 40 m. Again he t e ~. rlght and walks 40 m. After that, he turns left and walks 20 m

and finally turns left and walks l}':u and reaches the point P. Then, what is the ratio between the

distance yet to be travelled along f""”'- straight road to reach the playground and the total distance

walked during travelling in reaching the point P ?

@ 2:5 @ 1:5 :‘ (3 1:2 (4) 3:5
e ¢
141. Find the next numberin the fulluvnng series : E
1, 8, 15, 45, 101, 191, Ny &

(1) 321 (2) 320 it L(S) 323 (4) 322

In the following, the 2°9 term is Wntten using the 1% term with a definite rule. If the 4™ term is to
be written following the same rule as gpphed to the 3" term, then the term in place of “? is :

SELECT : TIUUBD : : FORMAT : ?
(1) GSACZE (2) GSACXD i (8) GSABZD (4) GSACZD

b/
J. 1

143. Arrange the following in chronological order according to their year of establishment :

A. Aligarh Scientific Society B. Benares Debating Club
C. Bihar Scientific Society D. Society for Translating European Sciences

E. Indian Association for the Cultivation of Science

142,

IF.

Choose the correct order : ()
(1) B, C. D, AE . @D 'E;AB,C ((3 D,B,A,C,E (4) B,E,A,D,C

&)

144. Match the following: |
A. Bhavabhuti I, Devlchandfﬂguptﬁ
B. Harshavardhana II. Malatimadhava
C. Mahendra-Vikramavarman III. Mattavilasa
D. Visakhadatta IV. Nagananda
Choose the correct answer ;
(1) A-II; B-IV; C-1IL D-I (2) A-III; B-IV; C-II; D-I
(3) A-IIL; B-II; C-IV; D-I (4) A-I; B-I; C-III; D-IV
i
(48 ) @
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Jugu talkie film “Bhakta Prahlada” ?

e
145. Which studio produced the first T -
(1) Bharat Movietone (4) ﬁ.?”llt Movietone
(3) Madras National Theatre Madan Theatres
vi Varma ©
146. Which among these paintings are by Raja Ra ma

B.  Nair Woman

A. Lady Lost in Thought
; D. Lady Giving Alms at the Temple

C. Bride and Two Companions
The correct answer is :

(1) A,Band Conly |,

(3) A, C and D only

o
Which of the following statements about Raja Rammohan Roy is/are correct ?

U']

(2) B, C and D only
f,__(:-i) A, B and D only

147.

A. He favoured polygamy. .
B. He established the Vedanta College in 1825, |

&

Choose the correct answer : . )
(1) Bonly i (2) Aonly
(3) Neither A nor B 4 (4) Both A and B

148. Consider the following statements :
A. Mahatma Gandhi wrote a book, Indian Opinion’, to apprise the British Government of the

widespread discontent among Indians.
B. ‘Hind Swaraj’, written by Mahatma Gandhi in Gujarati in 1909 was proscribed by the

Government of Bombay and then in 1910 it was published in English in London.
‘N

Which of the above statements is/are correct ? '/

(1) B only i‘:iiz) A only
(3) Neither A nor B A4) Both A and B

149. Which of the following statements about Indian }Gatiunal Army (I.N.A.) are correct ?
A. I.N.A. had fighting brigades named after Gandhi, Subhas and Rani Jhansi.
B. The slogans of LN.A. were ‘Jai Hind’ and ‘Delhi Door Hal’ (Delhi is far).
C. Rashbehari Bose handed over the leadership to Subhas Chandra Bose.
D. Capt. Mohan Singh was the commander of the Indian National Army.

Choose the correct answer :

(1) A, Cand D only ,({‘Z) A and B only
(3) A,B,Cand D » (}4) B, C and D only

[
%

150. Consider the following statements about religion,ﬂconditinns under Kakatiyas :
A. Shaivism flourished. i;;}J

B. Jain Temples were destroyed. &
C. No Vaishnavacharya was mentioned in any of the inscriptions of the Kakatiya rulers.

D. There was no rivalry between Shaivism and Vaishnavism in general.
Which of the above statements are correct ?
(1) A, B and C only

(3) B and D only

(2) A and B only
(4) A,B,CandD

F5E
R (50) O
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